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B. Com. (Part I1I) EXAMINATION, 2018

(Foundation Course) ‘
Paper Second
ENGLISH LANGUAGE
Time : Three Hours
Maximum Marks : 73
Minimum Pass Marks - 26
lote : Attempt all questions.
 Unie=1

Answer any three of the following quesuons in about
200 words each : 15

(a) Why was the mother nature sad at the end of the

poem “Three Years She Grew™ 9

(b) Do you consider the end of “The Death of a Clerk™

as.proper ? [f not, what sort of end you would
consider proper ?

(c) How does the king prevented again and again from
ascending the throne ?

7 P.T.O.
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(d) Write an essay on Rationalistic Religion.
(¢) How has communication education revolutionized

the world ?
Unit—1I

Write an essay in aboul 300 words on any one of the
following : 10
(1) Clean and Green India
(i1) Demonetization
(i) Naxalism and Chhattisgarh
(iv) Women and Development

Unit—III

Write a precis of the following : 10

" The British first came to India as traders. With the

passage Of time however they developed political
ambitions. Following the decline and downfall of the
Mughal empire during the eighteenth century. they began
to Wwork, through wars and diplomacy for the
establishment of their political supremacy in the country.
This turned out to be a gradual and prolonged process.
Beginning with the British occupation of Bengal in the
mid eighteenth century, it was completed nearly a century
later with the annexation of the Punjab. Even as British
were expanding their empire in India, isolated attempts
were being made to challenge their authority. The climax
came in 1857 when different sections of the Indian society

combined in large parts of northern and central India in 2
bid to overthrow the British.
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Unit—IV

Read the following passage carefully and answer the
questions given below
I have a pet named Jimmy. About a month back i
was a lean and feeble creature. It remained unawarc
of its main responsibility and sneaked out of the
main gate to play in the street. But gradually. a sori
of intelligence developed in it as it began to cat
selective items. Now it does not go into the streets (0
move about. It does not take part in rooting around
for bones and scraps like stray dogs. It likes to live
inside the house. It has learned the art of
safeguarding it master's house against the burglars.
[t daily goes out for an evening walk with me.
Questions :
(1) What is the name of the author's pet ?
(it)  Where did the pet sneak out to play ?
(i) What did he develop gradually ?
{iv) Where does he like to remain ?
(v)  What art has he learnt ?

Synonyms :

'

(1) sneak

(i1) responsibility
(i) scraps

(iv) art

(v) burglar

P.T.0O.
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(C) Antonyms : I
(i) pet e
(1) unaware
(iii) developed
(iv) move
(v) feeble
Unit—V |
Attempt any “wonny five of the following : 25
Insert suitable articles wherever necessary :
(1) Take .......... umbrella with you to .......'...»ofﬁce.
(ii) Rainatravelled in .......... second class carriage with
.......... few Americans.
(i) book on the shelf is ....... ... Interesting one
about .......... Candhian Fhilosophy.
(iv) Canlhave...tea? -~
Fill in the‘éollective nouns :
(v) The...... of the Indian Navy is Very strong now.
(vi) ~ The President occupied a ... of rooms at the

hotel.

(vii)  We sat down in the shade ofa ... of trees.

Fill in the blanks with appropriate

pronouns given in the
brackets :

(vii .
vili) Youand . 00500 make a good partncrship. (hC- him)

(1x Yes, it s [
) CS, 1tis ... sure enough, (he, him)
(.r's '/c,!!;u:

as \; Qe Y
i tll.n,,.“.. o (I‘md
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Supply the Lorrect form of the verh Brven iy gl

" » .
(x1) | hy sics the Subject he Was specialisin
’ ! 1
student
(Xi)  The news at last
(Xii)  The ury eXxpected to
this week

- 8round for 4 heyge future

return they verdict 1ar,

appropriate forp,

(X1v)  Just then, somebody .. (was bumping bumped)
INo me quite roughly .
(xv) ]

......... (left/had left) m,

morning because | thou
day.

raincoat home  thai

ght was gOINg to be fine ai|

Complete the following conditional sentences -

(xvi) Ifthe Ganga overflowed its banks

(xvii) He wouldn’ have listened 1o me

...........

[ R

(xviii) If you had worked harder ...
Fill in the suitable prepositions -
(xix) This music is written ......... Laxmikant Pyarela|
(xx)  He was accused ... murder.
(xxi) She has been charged ... . theft.
Fill in the blanks with despite, in spite of. because of or
due to :
(xxii) ... the rain, I went (0 the concert in the park
(xxiii) ... Kiran's age, he remained  active  and

creative,

P.T.0.
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(XXiV) He Cp\l‘d not appear 1 the CXamin : 201
\ d ||,!
lIness
Change the Voice !
(XXV) Somebody must have taken it while |
. ’;lg‘ "l“
(xxvi) You must iron this dress for tonight
(xxvii)Did the noise frighten you ?
Fill in the missing relatives :
(xviii) The person ......... is sitting next to me |g .
ot ye
sharp. )
(xxix) The princess ............ had been married fg,
. {
years, has just had her first baby.
(xxx) Was the coat ......... you were wearing yesterg -

your own ?
Put the following in the reported speech :
(xxxi) Shut the door after you.
(xxxi1) Take a look at yourselt:in the mirror.
Turn the following into assertive sentences :
(xxxiii) How selfish I have been.
(xxxiv) Oh ! how delightful it is !
(xxxv)How I would like to see him !
Combine the following pairs of sentences &
appropriate co-ordinating conjunctions :
(xxxvi) (a) Some ants raid the homes of other ants.
(b) They make them captive.
(xxxvii) (a) Some slave ants work for their masters:

(b) Some others do thing for their keep-
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Fill in the blanks in the following sentences with correct
question tag :
(xxxviii) All of you have heard about Ujjain, ............ .
(xxxix) The giant was very selfish, .......... :
(x1) Vikaramaditya was great king and judge, .......... ?

(xli) He hates her like poison, ........... .

)-2042 5,600
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BD-2043

B. Com. (Part III) EXAMINATION, 2018

(Compulsory)
Paper First
INCOME TAX

Time : Three Hours
Maximum Marks - 75

Minimum Pass Marks - 25

e mﬁﬁam%waﬁm|mm§@ww
AT R 2 | W g ¥ o g &

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

TRE—1

(UNIT—1)
1.W$%vmmﬁwﬁam-wm%am
ﬁufﬁa%mwé?ﬁam-wmmﬂfﬁawm
HAETET | 15

How is residence of assessees determined for Income Tax

purposes ? Explain the incidence of Residence on (ax
liability.

P.T.0.
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(Or)
@) R FRRT B aR 10 B It iy
s | Lﬁﬂf‘m

Give any five examples of Income CXemptey S
Section 10 of Income Tax Act. Undsg,

@ A= @R & MR w R/ Ty
ax-Fake ad 2017-18 & fow &R aifye ®

Eﬁ T['UT;H
: 10
4
(l) a’zﬁ A1 86,000
(i) TR & o | g 6,44,00¢

Compute the tax liability of Mr. Rahul op the bass
of the following particulars for the assessmen

U year
2017-18: .
3
(1)  Agricultural income 86,000

(i1) Income from Manufacturing Rubber 6,44,000

SHE—2

(UNIT—2)
FeEd 7 Wagy 4 ager afRfem @ g @
STV Aled FRHATSRY forfdgu

(#) fox 4 qa@ 7o &1 geie
(@) e, gaifora vd argmnforg wfsy Rl
(7) 7@ famr 9=

Explain the Income Tax Act provisions regardi®
following items -

g the

(a)  Valuation of Rent free house
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(b) Statutory, Recognised and nrecopnised Providen

Fund
(¢) House Rent Allowances
ar
(Or)

R WY & WR ¥ UG JGH 2| TAdY 2016-17 4 AG[
& 3/4 UM WA A D @M HAT & ddl 1/4 T
1-422016 ¥ 31 fewwR, 2016 @@ @A & foU T 4,200
MR fvrl R 2 e ma €1 1 a9, 2017 | T8 AT
A WI ®A D W AN AGH B ARUINTDT HodTd
T 1,20,000 T HWud &R T 1,44,000. €| 39 HGM TR
S+ frfoafea @ fFu

4
TRUfSH R ' i AR
A R &Y . - 12,000
damr ffgm ' ¥ A e

A B PR B R S 1-4-2013 B 10% aiffE A
W ¥ T 6,00,000 B FOT forar Fgar Fmfor 31-3-2014

as’rwgsmmﬁamwm&ﬁ‘s‘%ﬁw‘ﬁﬁjm
T B ' ' o

FR-FHRT a9 2017-18 B forv M. 9 A ATy @
I H MO Y| | | R

Mr. Ramesh owns a house at Raipur. During the previous
year 2016-17, 3/4 portion of the House is self-occupied for
full year and 1/4th portion is let out.for residential purposes
from st April, 2016 1o 31st Dec., 2016 on a rent of 2 4.200
per month. From st January, 2017 this portion was used
for own residence. Municipal valuation of the house is
¥ 1,20,000 and fair rent 2 1,44,000. He incurs the followiny
expenditure in respect of the house property : X

A

¢ | P10
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[4]
3
MuniciIMI Taxes 36,();;{;
Repaits 12,000
sremium .
en on 1st April, 2013 @ 1 )
— ’)/'"

[psuranc® F
e house which was
Completed

A loan of { S.O0.000'WaS
paid on Loan Ac
Couny

“a. for the construc 1 .
on 31st March, 2014. Nothing was re

so far.
Find out his income from hous¢ prope

rty Mr. RamCSh for

| he assessment year 017-18.
N ‘ —3
~ (UNIT—3)
3._31@,2017aﬁwrﬂﬁﬁaﬁ?aé$mw |
la”q‘“ 3 Fopeforac cme-gIf e IR %zn : o
I < | B | |
E fgq W goran T ?

_ %ﬁv_ﬂmaaﬂ | 1950.000E
Sk | |
| o | 20,000 |
| AT e, 4301 10000
iw@aum . | 4oooo£
arr:an R o0

\ I - ' |
; 3 \ | | |
- ﬁ‘m it 80,000
T G g g |
R T | 1,50.000
) & ¥ YQﬂTﬂr\\-"
e IR \
i | 40,000
e~ | 62.000
7 80,000

A-6
T
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EIDIECE I T . | OO0
PTG R @ 1L00.000 |
; . ‘

RO R GTd 300000

| Qél’iﬁml U gt 120,000
U I 40.000 |

{5 Hqq P fawran (S 9% @ oy s B) L 60.000
SCICUICER: 2N D | 130,000

| ; FRAMRT a9 & Ry ERCICH J 70.000
: 7.80.060 §

?fﬁmam—rﬁa%‘rwﬁrd Fe- Ry a¢ @ P:«Q IR 7
A B T BV |

A Banking Company has prepared the following P & L
A/c tor the year ended on 31st March. 2017 -

—_——— . -+ -

gA

" Interest paid on Depnr;i-i.\ , - ]T 2.00.000
; Salaries and Allowance | ! 1.50,000 l
; Rent and Taxes | 20,000 |
| Postal Charges 10,000 ; .
" Stationery and Printing 8.000 f
' Depreciation 40,000 ;
General Expenses 20.000 |
Proposed Dividends 80,000
Provisions for Income 1 ax , 1.50.000
Bad Debts Provisions f 10000
Profit to Balance Sheel | G0
;r 7. 80,001

P.T.O.
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L

yterest Of OV udlﬂll t (){)‘()("

[pterest Of (ash C redit } l,()()‘u(_)()

pterest O [Loans | 00 0

| Interest on Sccuri{ics \ 1 20,0(}(

| Commission l'g 40,00
| Rent of Buildings (MongagEd HEEEE l

Bank) 60,000

Underwriting Commission 30,000

| Pmm on 5ales of Shares Underwritten 70,000

| 7.80*00(5

pute the Business Income of the Banking Company

Com

for the relevant assessment year.
Al
(Or)

() 10% "ed Je¥ RGN FOT X 4,00,000 |

@) 10% TER OE HWUGA B4 AT, 2014 7
FE W P 5T T 2.2,50,000 1

@) 9 i F0 @ o 2 1,50,000 |

@) wwwd wRf @ sl T e T 20,000

"' 7r \ . OO
g fo 2 Hd "’
i TR m 12% 9¢ gwe dfvg T 4,00,000 °B

for

" 1J”111 ,v‘ful JH—-] i"\n/u % Eﬁ ?? -{q ? 2
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o ure | wiefort @ wu e R @ fae da
d g W 14% W awr @i wafsa g a@
forg ¥ 400 FHNH TS far) wad s far o o
W W18 REWR, 2016 B gE, T T 1,00,000 & 129,
frech) AR O IINWBR A yrd fhy |

geefferdt w &9 wfoe 31 REwR qwr 30 oF @) 2w

g 81 w-FuRe av 2017-18 & fog “Goh @mrr werr

‘o1 WrE @ ama” s @ sre s af

The investments of Mr. X on Ist April, 2016 were as
given below :

(@) 4.,00,000; 10% M. P. Govt. Loan.

® 2 2,50,000-; 10% [mprovement Trust Debentures at
par on st Nov.. 2014.

(¢) -T1.50.000: 10% Debentures of a Jute Mill Company.

A-6

(d) < 20,000; Interest on Debentures of Co-operative
Society.

On Ist October, 2016 he_sold his Improvement Trust

Debentures for ¥ 2,32,500 and purchased % 4.00.000. 12%

Port Trust Bonds for which he took a loan of ¥ 2.00.000

@ 15% per annum. The bank commission for buying and

selling securities was l%% on Face Value and for

collecting interest ¥ 400. During the year he inherited
4 'I,O0,000, 12% Delhi Govt. loan from his tather who
died on 18th December, 2016.

Such interest being payable in each case on 3lsi
December and 30th June. Find out his income under the

head “capital gains™ and “income from other sources™ for
the assessment year 2017-18.

p.T.O.



4

(a)

(C)
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(UNIT/4)
# gad § graeT @ ?

grfa @ qfcl
'ﬁ{}?’{ﬁqaﬁ?ﬁa@’_‘;"m’i

A 2016-17 R
¥ 740 000 .’JH m 2013'14 ﬁ a—iﬁ 4 6’00100(4
57 Y MBA 3 A P o ferar| Ta @
sote-17 H 1 RN £ o fd¥ T 70,000 3
s & a9a W3 80,000 @1 <MY foar | FR-[EIRY
4 2017-18 sqd ga I T ot e i
qorA @I |

& fr maa S mafR fAerdad ¥
fifeq &, @ qod ga I 2 725,000 &1 T& I
feml @ AT tedl & adl % 6,000 (1 A8 T
élwﬁ@amﬁmﬂﬁml |

What are the provisions regarding s

g ad 2016-17

etoff of capital

gain ”

Gross total income of Mr. Rahim for the previous
year 2016-17 was X 7.40,000. He had taken a loan o
? 6.00.000 in 2013-14 from a bank for pursuing
MBA course. During the previous year 2016-17 It
.rcpaid the Ist instalment of loan of ¥ 70,000 an¢
’mlcrcsl ¢ 80,000. Compute his Total Incomc ant
Lax liability for the assessment year 2017-18.

Cire val e 5
iwoss total income of Mr. Goyal who is sufferint
trome a severe disabili g

severe disability, for the previous year 2016

17 15 3 7.25.00

X T7.25.000 > 1s living

o t.’HL s living in a rented house 4"
yVing rent o 2 6.000

mncome. p " (0"‘.[)["0 hls h
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e

(Or)
Bodwmwm e Re sl aRkae & wal g
Fr=feaRed Ravor wxqa o many ax-fwlco ad 201718
& forg oRaR & g AW AR Y@ He arfae ar aa
BN

<

() el G 22,500
(i) Srd@TeE o am™ 18.000
(i) @WUR | o™ 3.80.000
(iv)  ®% | am 25.000
(v) fev ) ITTE TS a4 Ay 72.000
(vi) Iad 9y R T R 8,000
(vi) Hfad FW @ gfefonl w® e

(T&) | 27.000
(vii) GRIR @& TF Wew B AW |

T AR W@ e e uifeRd €g

CNEE] 30.000
(ix) . Ffec d g Jae § o 8000
(x) ST GRE B A T 25.600

The following details have been supplied by Mr. Hemant

Karta of H. U. F. Compute the total mcome and net tax

liability of the H. U. F. for the assessment year 2017-18 -

2’.
(i) Short-term capital gain 22.500
(1) Long-term capnal vatn NIV
D Prohit om business ‘ '
P. T C.



(1v)
(V)

(vi)
(vii)

(viii)

[10] | !?.[)_2043

profit from a firm 5 5‘000
Rental income from the property let out 72,00

Local taxes on the above property 800

“Interest on securities of a Listed

Company (Net) 27,001
Contribution for Dhan Raksha Policy of
LIC in the name of a member of the
family 30,000
Medical insurance premium paid in

- cash 8.000
Donation to National Security Fund 25.000

IHE—5
(UNIT—5)

s (6) F ael @ - aIel @1 U S
@) Rrefefie §a 9 R 234 A B A= UE AR

TR <Y @ @1 VAT DI

- o 2017-18
AR fJaRell TiRae d= o Ity 13-1-2018
wmﬁﬂ?ﬂﬁfﬁmmaﬁ-@ﬁw 31-7-2017

JEMH WM W FT G W

Z 7,000
A gHNT PR |

S Z 18,00

Tifae & |
) T W aw-
. 7 4,500
e offg R W IR

4 35.36‘BI
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ta)  Describe the different modes of recovery of 1 as

: . . 5
(D) From the following information compute the interest

payable by an individual under section 234 A

Assessment year 2017-18
Data of filling the return 13-1-2018
Return due on 31-7-2017
Tax deducted at source T 7,000
Tax paid in advance < 18,000
Tax paid on self-assessment at the time
of filling the return 34,500
Tax payable on assessed income < 35,360
Hgar
(Or)

3firm BY 29 & < H9 IO AT & 2 39 YHR B
TR FY gHA G & AT THG) FUVAT @ AT S
féar S 8 7

When does the liability to pay advance tax arise ? When a
such tax is to be paid and how is it calculated and paid ?

iD-2043 5,650

-6
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B. Com. (Part III) EXAMINATION, 2018

(Compulsory)
Paper First
INCOME TAX
Time - Three Hours

Maximum Marks - 73

Minimum Pass Marks - 25

I mﬁﬁawﬁ%wﬂﬁmmmﬁwm
A A 2 I g & o e §

Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
TP
(UNIT—1)
SO I CINIE GRS TR ) S S Y —
fuifta foar amar @ ? Ram-em o1 & | w
THEATRT | 15

How is residence of assessees determined for Income Tax
purposes ? Explain the incidence of Residence on tax
liability.

P.T.0.
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arerdl
(Or) .
o @8R 10 @ arid g PIR
S

(¥1) AP yfefA
g fafa |

pted under

3 4 exam > >
;'('::;0?:‘:0@' Income Tax Act.

(@ P favor @ MR w® @ WEA B
#¢Pufzor af 201718 & farg &Y Qi & T
BN 10

N

azﬁ s 86,000

6,44,000

(1)
(i) TR D fomfor | M@
ability of Mr. Rahul on the basis

Compute the taX li
rticulars for the assessment year

of the following pa

2017-18: :
| <
86,000

Agricultural income
from Manufacturing Rubber 6,44,000

THE—2

(UNIT—2)
2%W$ﬂﬁaﬁammaﬁﬁuﬂa%mﬁaﬁ

TeTevo wfed gagmar forfay
() e A T HHH BT :
(74') ']"Iﬁ?ﬁ, qmﬁn—d Qa Gmﬁlﬁ ,H,fa” ﬁﬁ

() 9o fawrar wa
Explain the

> Income . . .
following items - Tax Act provisions regarding the

(1)

(ii) Income

(a v ~ts
) Valuation of Rent free house
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(b) Statutory, Recognised and Unrecognised Provident
Fund

#¢) House Rent Allowances

HYAT

(Or)
ﬁ.mWWﬁW%ﬁﬁl TAAY 2016-17 H HaT
@ 3/4 W WA @A B BW N 2 ad 1 /4 W
1-4-2016 ¥ 31 ¥R, 2016 & B3 & frv 2 4200
e R w < fear mar 81 1 §ad), 2017 @ 7w W
H WU A T W A TBH B AR D el
% 1,20,000 T Sford fRIAT T 1,44,000 2 | T9 HEE W
Sun fymferfaa @ g

4
TTRUTTTdT B ‘ "~ 36,000
W R Y - 12,000
dm fifg ' . 7,000

ABT G A @ fu S 1-4-2013 B 10% affa @
T W T 6,00,000 B HT forar Rrar M 31-3-2014
P QG| M TH KT BB AT T
TaT |

F-feir af 2017-18 & foy M 4w @l Am-waty @
1 BT T I | |

Mr. Ramesh owns a house at Raipur. During the previous
year 2016-17, 3/4 portion of the louse is self-occupied for
full year and 1/4th portion is let out. for residential purposes
from Ist April, 2016 to 31st Dec., 2016 on a rent of ? 4,200
per month. From st January, 2017 this portion was used
for own residence. Municipal valuation of the house is

?1,20,000 and fair rent ¥ 1,44,000. He incurs tlu tollowiny
expenditure in respect of the house property

P.T.O.
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(4]
L4
16.001
\hnm‘uu‘ Taxes ]): 0
Repairs 2,000
7,000

[nsurance premium
00.000 was taken O
f the house W

»014. Nothing Was repal

n Ist April 2013 @ 10
hich was complete¢
d on Loan Accoun,

0.

‘
SO far

Find out his income from house property Mr. Ramesh fo

assessment year 2017-18.

the
T3

(UNIT-—-3)
: 31@,2017@%51%@?&23%?@%
) 3 Pt q-EI G SR o
e T8 SRS S | 200000
g7 qul W 1.50,00(
20,00(
SIF 4J
L 10,00(
S 8,00
. . 20,00(
i | - 80,00(
v 7R B ( ‘
7 I"_Uf "h f;‘,{ﬂ (U‘ﬂ-{m 1750300
oATH f’ﬁ,ﬁ) J U 40,000 |
62.00
7.80.00 |
A-6
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g w &
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BD-2043

OO0
I.00.000
3.00.000
1.20.000 |

40.000 :

60.000 |

30.000

70 O()(J

a%nascqaﬁaﬁmﬁmmﬁwaw%nwﬁﬁ@

I T BRI

A Banking Company has prepared the following P & |

A/c for the year ended on31st March. 2017 :

~ on

' Interest paid on Deposits “T

“Salaries and Allowance

( | Rent and Taxes

( J - Postal Charges

’ Stationery and Printing
Deprec1at10n

| General Expenses

| J' Proposed Dividends
- Provisions for Income lax
" Bad Debrs Provisions

'

CProfit to Balance Sheet
2 TE ONicet

20.000 |
80.000 |
1.50.000
40.000
()'_‘ 000

7.80.000

P.T.0O.
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l ' .
— = e -
Interest on Overdrafl 60.
CInterest on Cash Credit 1.00.0¢
| Interest on Loans 3.00.00
\ Interest on Securities 1.20.0¢
| Commission 40.0(
' Rent of Buildings (Mortgagcd with the

\. Bank) 60,0
!1 Underwriting Commission 30.01
!.‘ profit on Sales of Shares Underwritten ' 70 .0

.

A-6

e -
7,80.0

- - e — —

Compute the Business Income of the Banking Compa

for the relevant assessment year.

arerdl
(Or)
1m';2o1eﬁﬁ,m$%%ﬁﬁﬁrﬁmﬁ
(31) 10% " gevr IRAR FT R 4,00,000 |
@ 10% JIN | weTA B 1 TAEY

FHH W P fpu MU ¥ 2,50,000 |

(T) qeard |ffa @ HOTAA ~ gz T € 20,000

\ SR, 2016 @ ST gER A R 7 2,32,%
2y Frm AR 12% I R s 7 4,00,000 F 2

fro s forg 39T | 5% Fieras # v d3 200,00

i
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Av’h, yE—r TP Q - Voeyr v vy e N ot B 2 ’ b3
WENTG ':\C'\o 9 I‘L.\) SR W &I gt q\'x g

e E Y Ty —— . - —_— i
g T 400 FHRTT T far| Toad agd R @ Wy
. A
—— 5
- - — % "
qx Wi 18 Q9NN 2016 & \\; I T 1,00,000 & 12%
~

g ) PNy
Qoctl Jxaiy MY U ®R H UKy 1Y

‘\A \
gionforat @) &9 wied 31 fegsaR aun 30 1 B ¢

&

\ N
gar 2] w-Fule o 2017-18 @ g B (L 1 Al )

L3

Bor— TTRT T AP ', v -0 VTN -S| DO
Iq G 9 I/ NPT I HS LT PINT

The investments of Mr. X on Ist April. 2016 were as

given below :

(a) T 4.00,000; 10% M. P. Govt. Loan.

(b) < 2.50, 000-' 10% Improvement Trust Debentures at
par on Ist Nov.. 2014.
(¢) T1.50.000: 10% Debemures of a Jute \hll Company.
(d) ¥ 20.000; Interest on Debentures of Lo-Opuum ¢
Society. _
On lIst October, 2016 he_sold his Improvement Trust
Debentures for ¥ 2,32,500 and pu‘rchased < 4,00.000, 12%
Port Trust -Bond's for which he took a loan of ¥ 2.00.000
@ 15% per annum. The bank commission for buying and
selling securities was l%% on Face Value and for
collecting interest 400. During the year he inherited
Z 1,00,000, 12% Delhi Govt. loan from his father who
died on 18th December, 2016. .
Such interest being payable .in each case on 3lst
December and 30th June. Find out his income under the
head “capital gains™ éhd “income from other sources™ for

the assessment year 2017-18.

P.T.O.
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(c)
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a4 .

(UNIT—4)
fgoﬁmﬁaﬁr{%a%muﬁzmw;fﬁ?
ﬁﬁuaﬁzma-wﬁﬁ W @ FEd @ amy
s 740,000 3| T 2013-14 A & J T 6,00,00
mwwm.-\a%axmﬂa%m%mnnaag
2016-17 § T O DI FAA feed T 70,000 3y
mﬁawm%so,ooomm%mlm-auﬁm
oS o011 # SR T AW W W TINT F

T PR

mq ad 2016-17 @ ML MEd A TR e |
e £, B wod T 9T T 7,25,000 8| T& I
Wﬁ‘wﬁm%mn,mogﬁwém
3| S F@ a1 B T BT |

" What are the provisions regarding setoft of capital

© gain ?

Gross total income of Mr. Rahim for the previous
year 2016-17 was ¥ 7.40,000. He had taken a loan of
# 6.00.000 in 2013-14 from a bank for pursuing
MBA course. During the previous year 2016-17 he
repaid the Ist instalment of loan of T 70,000 and
interest ¥ 80.000. Compute his Total Income and
Tax liability for the assessment year 2017-18.

Gross total income of Mr. Goyal who is suffering
from a severe disability, for the previous year 2016-
17 is  7.25.000. He is living in a rented house and
paving rent of T 6,000 p. m. Compute his tota

1ncome.
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arerd]

(Or)
Bt @ R sfwifia gRan & AL 1A
PR R seqa foan wan ) vt aif 2017-18
& fom oRar & @ am e Y& R <Ified &1 ufia o
I -

<

(i) BT G o | 22,500
(i) <reETela GO am 18.000
(i) =R | W 3.80.000
(iv) w4 9 am 25.000
(V)RR w 3o 7 wely @ Az 72.000
Vi) Sad wRfy ey w5y 8.000

Vi) qRm B @ o W

Fe) | 27.000
(Vi) WRIR F v gewg ®. qm ‘ﬁ
tE AR Pl T iR £q

SRS

| 30,000
(i) . FRfdsm dm Py NEE e - 8.000
%) IS WRen By § o 25.000

The following details have beep supplied by

Mr. Hemant
Karta of H. U, F Compute the total income

and net tax
liability of the H.U.F. for the assessment year

2017-18 -
4
(i) Short-term capital gain 22,500
(11) Long-term capital gain 18,000
() Profiy from business

3.80.000)

P.T.0.

ok



(10]

(iv)  Profit from & fiem 25 0y,
(v} Rental income qrom the My let out 72 oy,
(vi} Local taxes on the above property 3,(2
(vii) ~Imterest O cecurities of @ Listed

Company (Net) 27,0
(Vi) Contribution for Dhan Raksha policy of

LIC inmenmmofamcmberofthe

family 30,000
(ix) Medical insurance premium paid in

cash 8,000

ity Fund 25.000
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(a)  Describe the different modes of recovery of Tax

=(b) From the following information compute the interest
payable by an individual under section 234 A

Assessment year 2017-18
Data of filling the return 13-1-2018
Return due on 31-7-2017
Tax deducted at source % 7,000
Tax paid in advance < 18,000
Tax paid on self-assessment at the time
of filling the return < 4,500
Tax payable on assessed income < 35,360
Idr
(Or)

i X 3 BT A HY ITH Bal 8 7 39 YHR FI
I} B9 gHTAT AT & a1 S QUUAT T4 YA T
foram S 8 ? |

When does the liability to pay advance tax arise ? When a
such tax is to be paid and how is it calculated and paid ?

3D-2043 5,650



Roll No

BD-2044

B. Com. (Part LII) EXAMINATION, 2018
(Compulsory)
Paper Second
INDIRECT TAXES
Time = Three Hours
Maximum Marks = 75

Minimum Pass Marks 23
A o Urg g & IR AN TTF 3HE A Udh G
FxAr afvard 21 9 gvl & 3 §HH ¢

Attempt all the five questions. One question [rom each

Unit is compulsory. All questions carry equal marks
3hIg—1
(UNIT—1)
‘TG e AT HIA B IR U AR & Y G
TAE Yok Pad @ ofma el R ¢ e
#ifaw vd gofrad & ufhar qasmsy |

“Registration for a manufacturer or dealer of excisable
goouds is compulsory under Central Excise rules.” Explain

and describe the procedure for such registration.

A-4 p,3 e O
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JYdr .
(Or)

v PEfa 3 e famaRl @ AR M B fHY zqp
P g &1 Tl @ aR T el By
RFy 00 W % carel 4 ol 81 i grr e
zoTalt W UTEd! @ 2 2,860 W B @ WG W AT a7
A € e d Ay R U4 B IdE Yo Mg
€1 Heu dafgd BR DI W 4% B, Wald IAE Lob B @
12.5% €| &= FuRo qeq @1 8 U9 9 3o o0
SATE Yod fhaar g afe

(@) =omell & ARTH W 1200 THEAT 99 S B

(@) A YES B 800 ghIEEr 9 ey ¥ |

A manufacturer has appointed brokers for obtainin

orders from wholesaler. The brokers procure orders f0
which they get brokerage of 5% on selling price. In spit
this

M

the manufacturer sells goods directly to buye!
anufacturer sells goods to buyers at ¥ 2,860 per piece !
both conditions. The price is inclusive of Sales Tax .

(e "¢ 1ce : ¢ !
entral Excise Duty. Value Added Tax rate is 470 &

Freree Vv rate | : 1 i e
st Duty rate is 12.5%. What is the Assessable ¥*

I /i =1 l\ ‘r (1 ' \ -
- duty [rayable per prece the poods sold -

b hrouph broboey s () "00 units).

tttomers (800 unis).

\-4
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§BIg-—2
(UNIT -2)

AT /W I ¥ fade PR &) fagiwar aqargu |
A W (Inputs) U QTa el W Gde Bfze du
ad g

What 1s Cenval ?[)iﬁt'l(ﬁf\ the [Catures of Caenvat Croedr
How is Cenvat Credit allowed i) respect of Inputs and
capital goods 7

HYq]

(Or)
U H9SRTE | il aree geref frffig faa ma
(i) §vS RAfrd) wmes @ 1370 J% iR

(i)  OF G T & SAEHT BUEF BT I 8035 Y& ey
(iii) S AR F IR @9 B 20700 J% ey
(iv) [<el TRE @ SHER B R 1800 o Frev

wﬁmzﬁm,uﬁwwﬁwﬁwww
2016-17 ¥ 3T &1 (3) a¥ 2017-18 ¥ gay @

The following intoxicants were issued from & warehouse
(i) Brandy to military canteen 1370 P. L.

(i) Rum to authorised canteen of B.S.F. 8035p. |

(iii)  Brandy to a licenseholder dealer of Raipur 20700 P, |.

(iv)  Beer to Contractors 1800 B. L

(v) Rassi (70.0 U. P.) LOOO0 P |
(Vi) Rum 10 a licenseholder dealer of Rajnandgaog

2000 P, 1L,

P.T O



BD-2
4] e

duty undet ('hhumxg;,,:.

of exclse
" | in the year (a) 207

i
Calculate the anu

‘ (S SS |

I XCIse
17 (b) 201 |5

(UNIT—3)
~ 3] ETCTT?[QI mm W ;ﬂl?ﬂrr“{ a4 b

~ 9T~} ‘} UP‘\". oL .
J !1., .\k‘l“ g o | ?
it G-t a3 PR @ S T §
%0 AR K 3 |

bjectives of ty. Wh
Discuss the main objeclives of Custom Dudy " y are
| | er
restrictions Ilnpn_\cd on import and CXpOl‘t un ustoms

Duty Act”!

AYq]
(Or)

Frfefian gudei | A9WR, 2016 H ATfad 7 g

TT AT Yo B TOAT BN
(1) FTUTrd ATd &7 T HisT Held (CIF value)

¥ 7,00,000

(i) 5o A1 Yo @) = 10%
(iii) forem Suaw 3%
(iv) 4°d § 79 Y B A TR IEE Yo A X 8%
(v) faury sfefeas <y A 4%

From the lollowing information determine the customs

able on machine imported in November, 2016 :

CIF value of £oods imported ¥ 7,00,000

/‘5.‘} V\uh;()f'lj

duty pay

(1
)

asic Custom Duty 10%
Pducation Cesg i

} ¢ a ¢ sy

JoKate of excige duty on such goods

Produced e adig

('Jj ')|;"".. b addivion.
‘onal custome duty e
A4

‘

\

{

{

(
2
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g1y
(UNIT—4)

2y fama B Sfgw @ i g g ufhdl
= a7

qareq | Fro @ qonEd @ yATo-g3 X6 O

istration under the Central

¢s the procedure of Reg

piscu
! Qales Tax Act. Describe the procedure for applying for
{he registration.

DI

(Or)

Fﬁ?m 3 qgd @O A R T 32,10,500 2
‘ﬁmﬁ@ﬁzﬁmﬁz%mq?wmﬁﬁﬂ CEaE

st B TR @ O BT
() SN aegel @ A # fama Z 13,00,000
(i) WRd ¥ Fafd Z 5,00,000
Gii) g H fg Z 6,00,000
(v) R o 7wy gl Z 7,500
(v)  FRET A R R B |

?3,43,500 14.5%

Z2,06,000 3%

3 Y W 20/

Gross turn a
ove '
o r of a registered dealer of Chh ttisgarh i
0,500. From f ing i pute ' les
e the following information compute th
. bS Furnover under the Inter-State Sales |
Sales of Tax F :? 0
Free goods '
s sold in State
'S 2 WS l3. O.()()U

b (i) Exports from India
< 5.00,000

P.T.O.
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A-4

(6] BD.,,

(i) Sales i State 2 6.0m
(iv) Sales Rewurn in inter-State Sales 7.
(v) Tax Rates on Inter-State Sales

2 3,43.500 14.5%

2 2.06.000 3%

Balancing Amount 2%

@5
(UNIT—S5)

gdaTe affus ax sfatEE # fam-fa il

e weE afvad @ ooieE @ fafr s

qaTgu OSA F9 @ A 1 wEd el

When is the registration' compulsory under Chhattisg

Commercial Tax Act ? Describe the procedure

registration and circumstances of revoke the registration

, Jordn
/ (Or)
Wmﬁmwmwﬁwﬁzﬁﬁmmw

zoosoazﬁmwmmaﬁ?ﬁ@%maﬂﬂ
2006 T R fapam T

4

(i) grardE (feari | w3 ud eeon-ue
A @E B faga) 4.00.0

(i) dnwedl fearn 9w e BE-a W
{lli} ,'J!I.-({‘” {i}llﬂ'h “1{ ’,{R.[) 5_()”..
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av) - ard e (qolftaa crfin @ wdd) .00 000
(v) R (b @t Frata fan) 1.00.000
(Vi) ¥R (TR A ) 6.00 000

(vii) {3 AE (asfvdwa amifeg o HA) 800000

', J)
A & o, S e e § affaa 70 2 20 000 a0
e | g & uvard 6 i @ v e o
AN | WGd fdma va de-arma fawa sna #ifao | aqone 5
qivsgd R T 4% HIfAU |

GUIial & fawa ® g A e atv an & 7 10 o

The particulars of M/s. Radhakishan Mahesh Kumar
Sodani are as under which were produced to Commercial
Tax Officer on Ist August, 2006 for tax assessment year
2005-06 :

3
(i) Soyabeen (brought from farmers and
sold to Soya Plant on declaration
Form) 4.00.000
(i) Groundnut (Sold after buying from
Farmers on Form C) 2,00.000

(i) Cotton Seed (Purchased from farmers) 5,00.000

(iv)  Red Chilly (Bl()llblll from Registered

dealers) 5.00.000
(v)  Jira (Exported to Pakistan) 100,000
(vi) Sugar (Purchased from Maharashtra) 6.00.000

(Vi) Kirana goods (bought from Repistered

Dealer) 8.00.000

P.T.O.
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Railway freight and expenses amounting o 3
charged separately have been included in the S,
Cotton seed. Kirana goods worth $20,000 were g,
within 6 months after sale. Compute Gross Turngy,
Taxable Turnover. For calculation of Tax payable "

commercial tax rate (o be 4%.

BD‘ZU.H
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BD-2045

B. Com. (Part III) EXAMINATION. 201%
(Compulsory)
Paper Third
MANAGEMENT ACCOUNTING
Time - Three Hours
Maximuon Marks =~ 75

Mmimum Pass Marks = 25

Ae ol 9y $ IR AR YRE T A ud e

A4

&A1 AT R | 9 9 & 3 A ¢ |

Attempt all‘theﬁve questions. One question fron: cach

Unitis compulsory. All questions carry equal marks
THE—1

(UNIT-—1)

JaEIHIG et |
dd-el dl fadaaT BIfav |
What is meant by Management Accounting 7 Discuss s
main tools and techniques.

AHqr

(Or)
freiferfiad aaml @ W@+ AMad 39T @) Mo Bl
(¥) fawa 3 2,00,000

P.T.0.



BD-2044

\ \. ‘T"
mg;@qﬁﬂw

1:.5%%:&%@@%@@%@3
SEre @ fha At

) et @ AW 1200 THSAT S AR

@) A TES B 500 IHRAT 99 A B |

A manufacturer has appointed brokers for obtainin
orders from wholesaler. The brokers procure or ders f0
which they get brokerage of 5% on selling price. In spit
this the manufacturer sel|s goods directly to buy®

Manufacturer sel|g 200ds to buyers at ¥ 2,860 per piece |
2oth conditions, The Price is inclusive of Sales Tax &
“entral Excjge Duty. Valye Added Tax rate is 4% &

e Duty rage e 12.5%,

v l: i S du‘\‘,

v

What is the Assessable V3
bayable per plece the goods sold :

Hirouph by
1l l)lukcl‘. (1200 units
ini\.’.‘li‘-

(!'),b )
1O ¢ '*“"\'IHCrS (

800 unis),

S



[3]
TPR—2
(U.NIT~2)
Fde § A IW & ° Fe B & o

! (;S‘R‘fﬁ"f«. q?ﬂg-\w
A Gl (Inputs) T Gefirg 79y o TR B 39
frerdl & 7 |

BD-2044

What is Cenvat ? Diseuss the (o,
How is Cenvat Credig llow ey
capital goods

ures o ChN al Credit

Hrespect of inputs and

HYqy

(Or)
0@ SRS W R Aew ger Prif R
OB IS RUIR IRERC 1370 I% iR
(i) A R aa ARFT BUEH B 3w 8035 % ey
(i) A MR & D @ @ 20700 T ey
(v) [ R @ g@eR B AW 1800 35 v
(v) IR (700 g @) 10000 4% ftex
(Vi) IS & TSR o W 12000 Y% offer
Ted 3 T Fifvrg, e A gt @ Pt (37 o
016-17 H &M & () 9 2017-18 ¥ 3T & |

The following intoxicants were issued from a w archouse

(i) Brandy to military canteen 1370 P. L.
W Rum 10 authorised canteen of B.S. F. 80335 P. |
(iii) Brandy 10 4 licenseholder dealer of Raipur 20700 P. |
) Beer 1o Contractors 1800 B. L.
) Rassj (70,‘0 U P) 10000 P. L.
(vi)

Rum 10 a licenseholder dealer of Rajnandgaon

12000 P. L.

PTO |

Sy WGy P o
h_,




(4] 8020,

leulate the amount of excise duty under Chp
Calcuidiv

Fxcise Act i intoNt

17 (b) 201 7-18.

. . m[i\k’.én .
cants were issued in the year (a) 20, |
(@) 201

B3

(UNIT—3)

A Tew & T S adiet| A ed Aoy 5
st aaTa-fFgtd oY N F T M g Y

Discuss the main objectives of Custom Duty. Why arc
cestrictions imposed on import and export under Customs
Duty Act?

a1

(Or)
Srefoiad gEaRl ¥ qaRR, 2016 A amarfad w9 W <
3T ATE Yed B TOET BINT

(i) 3naTera ATa &1 orTd |reT Jed (CIF value) ((
¥ 7,00,000
(i) o 9 Yed @ R 10% '
(iii) forem Iuas 3% |
(iv) 9°d ¥ 9 Y& & Al W IeaTg Pob DI <X 8%
(v) faeng srfaRes A gon 4%
From the following information determine the custom?
duty payable on machine imported in November, 2016
(1) CIF value of goods imported 4 7,00-000 G
(i) Rate of Basic Custom Duty 10%2
‘i) Education Cess 3%T
(/) Rate of excise duty on such goods (i,
produced in India 80{(1'

0
v 1

Special additonal customs duty
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TPR—4

F
(UNIT—9)
N N _— a2 NS CEENUI
=g fJdpd P} JA”™THIE & J~Td AT+ RN
A N\ —'; \ o —
— 4 HRUT F Qufidd &7 YHTU-TF NEe &7 S71@r &
Y ~ N =

yiscuss the procedure of Registration under the Cenural

Siles Tax Act. Describe the procedure for applying for
{he registration.

AT

(Or)

ETEE @ Uuiigd @UN @ fdl ¥ 32,10,500 €|
F=oge qEaRt @ uR R SR Qwl @
ST BRAMY ATaA B VAT BN

() ogEd awgel &1 I H fapa % 13,00,000

(i) 9rg 9 fafg 3 5,00,000
(i) g 4 fae Z 6,00,000

(v see e % fawa a9l 3 7,500

\

¥3,43,500 14.5%
22.06.000 3%
M AR R 2%

Gro . . .
»5 lurnover of a registered dealer of Chhatusgarh is

;)“"”’-500. From the following information compute the
: able Turnover under the Inter-State Sales ¢
(U Sales of 7 ax Free goods sold in State 2 13.00.000
" Expors from India 3 5.00.000

P.T.O.



(6] 8.

(1ii) Sales in State 2 6.0n
(iv) Sales Return in inter-State Sales

(v) Tax Rates on Inter-State Sales :

% 3,43.500 14.5%
%2.,06.000 3%
Balancing Amount 2%
FH—5
(UNIT—-S)

5 gdrge aftfes @ sl 7 f&9-fea amiy
TR e et g ? oima @ Rl awsmr
JATRT UWIEd ®e T (o A 9 € |

When is the registration compulsory under Chhattisg
~ . ’ .
Commercial Tax Act ? Describe the procedure

registration and circumstances of revoke the registratior

el
(Or)
xRl v+ W AR WeH @ famy 31
2005-06 @ forg aifoifoas a aiferd @ w1 AT
2006 &1 TR fdan T

{
(i) wradE (f@a 9 w9 g =mor-gA :
R B e B ) 400

(i) Foweh (fowm & 7o T BE-A W |
791) 200

5,00/

(iiiy gy (f&Fr | #3)

4

h J
-4
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V) are e (Fofted araRal @ @)
V) R (wrfwara @ fafa fan)
(VD) ¥R (TERTS | @)
(Vi) fORTT 9T (TS ammiRat @ )

BD-2044

3,00.000
1,00.000
6.00,000

8,00.000

FURE & Ry ® gud A fwrr sk @y @ 10,000
T & o, S R[wy gea A wfnferg €12 20,000 1
R W 9 @ e 6 Mg @ sreR argw
T | Aol [BhY Ta dR-arvg RAwa §1a AT om0

d B) vJdb Y X 4% qll”Ql

The particulars of M/s. Radhakishan Mahesh Kumar

Sodani are as under which were produced to Commercial

Tax Officer on Ist August, 2006 for tax assessment year

2005-06 :

(1) Soyabeen (brought from farmers and
sold to Soya Plant on declaration

Form)

(1) Groundnut (Sold after buying from
Farmers on Form C)

(1ii)  Cotton Seed (Purchased from farmers)

(iv)  Red Chilly (Brought from Registered
dealers)

(v)  Jira(Exported to Pakistan)
(vi)  Sugar (Purchased from Maharashitra)

(vii)  Kirana goods (bought {rom Repistered
Dealer)

4.00,000

2.00.000

5,00.000

5. 00,000
100,000

OO0 000

8.00.000

P.T.O.



Y

(8]

8o
Raviway freipht and expenses amounting ¢ I
Charged separately have been included i the S
Cotton seed. Kirana goods worth ¥ 20,000 Were re:
within 6 months afier sale. Compute Grogg Tu"mi)v(.
Taxable Turnover. For calculation of Tax Payab)|e .
sommercial ax rate 1o be 4%,

l‘l)_;'\ll ;.



RON NO. o

BD-2045

B. Com. (Part II1I) EXAMINATION, 2018
(Compulsory)
Paper Third
MANAGEMENT ACCOUNTING
Time : Three Hours
Maximum Marks = 73
Minimum Pass Marks = 25
e . ) gf g F IR ARG gE EE W QP U
e afyard 21 Al geAl & e WHIA T
Attempt all'tlie_ﬁ\’e questions. (ne question trom each
Unit is compulsory. All questions carry equal imarks.
THIE—1

(UNIT-—1)

LUy e MG
qa-Tal i fada aﬂfﬁm
What is meant by Management Accounting 7 Discuss ils

main tools and techniques.

rerar
(Or) ’
%m%‘%amﬁwﬂmmﬁmaﬁﬁm_
(@) fawa I 2,00,000

-4 P.T.O.



Aol g1 Ul 250,
tad WhEl ¥ 50,00

(@ T@e famy | ¥ 3,00,00
SuR faspy 3 1,10,000
faspu g ¥ 35,000
SINES CORE RS % 27,000
ifaq =T < 33,000
RESNESIGECERI! 20%

Compute Stock Turnover Ratio from the following

data :

(a) Sales < 2,00,000
Gross loss ratio 25%
Average Stock < 50,000

(b) Cash Sales ‘ < 3,00,000
Credit Sales | % 1,10,000
Return Inwards T 35,000
Opening Stock T 27,000
Closing Stock T 33,000
Gross Profit Ratio 20%

FBR—2 .
(UNIT—2)

2. &g YAE fdaReT W U w@m gwes ¥ 7 gy @Iy UaE
gz 1 &9 voR =1 R ? sue) sumifar @ £ 7

What do you mean by Cash Flow Statement ? How i5 !
different from Fund Flow Statement 2 What is its utility 7

o - a
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W P B frafafig gt /@ erfvh gSh # gRads
Wammmﬁawﬁmaﬁn

- S 400000 | 450,000 |
! LED NG NT@HH : f
BT forazoy (50.000) | 70.00( |
AT ey ' 2,00,000 j 2.10.000 ,’
FUTg 2.40.000 | | 3.50.000 ;
EIS 81 Qgﬂl l wo(uu
| 9.10.000 | 12, >U (Jl)() |
f T 7]
1wy | |
R-a1] ARyt :
| YRl wrRg 6.10.000 | 750 00, |
- fafim S 80000 | 1300,
! dTe], TRy 2.40.000 | 3.75.000 |
R R | |
Ferd) ] 10000 5000 |
— J 9.10.000 JE‘ F230.00()
N | P T.0
)
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(1) 7 40,000 gl
11;1 |

Qe - T D ol |

From the o

ol ulllll Lo

o\\in
L mn \\ ml 1L

R FOTH®

13 S O
( 1p|ml

Pa rticulars

L Equity and Liabilivies

S

Sharclmldcrs' [Funds .

Share Capital

© Reserves and Surplus :

Statement of P& L

General Reserve

Non-Current Liabilines :

Debentures

Current Liabilities

[I. Assets

Non-current Assets .

IFixed Assels
[nvestments

Current asscis

SITF s ,
namortsed exp. (discount on

.!I'H'(\,“,)

fa company-
and I und
T Endmg 315t Mdl‘Ch

plt.p

2016
)

| I

4,00,000

(50.000)
2,00,000

2,40,000
1,20,000
9,10,000

¢ 0,000
~0.000
2.40.000

10 ()()O

‘) I () 000

BD-2045

xfﬂaf:rﬁ’cﬁ?l

are a schedule
ds FIOW btalemcnt

2017
-

4.50.,000

70.000
2.10,000

3.50,000
1.50,000
0,000

2

12,3

20.000
1.30.000
75.000

5,001

30,00
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[5] BD-2045

dditional Informations :
(i) Depreciation charged on fixed assets was ¥ 60,000

(i) A machine of the book value of ¥ 40,000 was sold
for X 30,000.

Note : The amount shown in bracket indicates negative

values.
TPE—3
(UNIT—3)
FefRed W e oy Pl & 9 gdfe ¥
 ReR omma Z 1,60,000
® (R @ fAsa &1 60%

(i) S™-HTAT T

(i) wH-fazoe g

(iii) ¥ 20,000 @7 o™ AT FA 2q fawpu
(iv) ¥ 4,40,000 &1 JATT R W oIm
(v) ¥ 8,00,000 &I fdm! TR e o Wiy

The following data is related to a Small Manufauuring Co.:

Fixed Cost X 1,60.000
Variable Cost 60% of Sales
Calculate :

(1)  P/V Ratio

(iy B L. P,

i) Sales required 1o carn a profit ot ¥ 20 .00
Gv) Profivatan estimated sales ol 2 4,40 000

(v)  Margin of Satety when sales are T 8.00.000



o el 40
LOJ <U4:

arerar )
(Or) ‘
o Jrgd Bl @l TH ol a1 F a7Td T 150 ars |
& wrafe o H R nzouﬁgﬁaﬂa‘\’wméa”
ﬁ?‘ﬁ@ﬁ:’ﬂ?ﬂﬂ?ﬂ%l arTg frareTE 39 98R T

-0 gl g8
s ufa §PIe
gRadayia &ad h

ol orTTa

wwgﬁﬁmuﬁmmgﬁﬁ7

A manufacturing company finds that while its cost is
nake a component, the same is available in

T 150 ecach to1
the market at 3 120 cach with an assurance of continued
supply. The breakdown of costis :

4
Material per unit 60
Labour per unit 40
Variablc expenses 10
Fixed Cost 40
. ______,/'
) 50
_—

Should the company 2o for buying in place of making th*

t7

part -




| 7
| (7 BD-2045
4 m 4

(UNIT—g,

h ;?oo s'mf; BRI R 0 g | & e
o AT Qg @ W IR A W a7 4 o0
. aRads ?ﬁ gy ay ¥y y
BT B dte fed my g
- l

A\
v tAHA]

R uRatda g

- ‘A’ " ‘B

SIEPIRCIE 40.000 ' (100% gfeactra)

HA ST 24,000 | (100% gRactr)
HIEG 2.000 J (80% uRqci+1y)
|| T v - 3200 | (75, w4t
I = | 1,600 ' (100% gRad-ra)
frteror | 800 | (20% uRad)
Rkl 16,000 | (100% ReR) |
| T 2 8,000 | (25% uRactr)
fasm arg 4,800 | (50% ufRacry)
A

1.00.400

fd g@TE ArTd T 20.08 |

4000 T 6000 IHLA & forv I@EH B gord amrg o
EW'

The cost of an article at a capacity of 5000 units is given

under ‘A’ a head. For a variation of 25% in capacit

. Ti. Gk
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[
3

bove or below this level the individual expenses ‘
ADOVL

‘B’ below !

'mdic;ncd under

,\‘

| ‘B‘- P, 5

L
40.000 | (100% Vary|

|

24.000 | (100% Vary

\ Material Cost

- Labour Cost
\“. Power 2,000 (800/0 Vary'm,:
\\ Repairs and Maintenance 3200 | (75% Varyin;

1.600 | (100% Varyi

"\ Stores

Inspection 800 | (20% Varyin
\ -
| Depreciation 16,000 | (100% Fixe

"\ Administrative Expenses 8,000 (25% Varyin

4,800 | (50% Varylr

1,00,400

| Selling Expenses.

Cost per unit ¥ 20.08.

Sind the unit coseooohe product at prowactic
4000 and 6000 units,

Al

(Or)

Tl e @ an omaa ® 7 gEe am @ Sl
fqaa=1 BHfaTo |

What it meant by Budgetary Control ? Dis¢

oo
uss its

and limitations.

A
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FIE—5

(UNIT—s)
ffmammmag%ﬁa_mww
faavon @ o S -

. 2
B 60 o 5 Brf?ff%m) - ?“3_06“,"
mmf'\&m(ﬂouﬁif%m) ;400f
100 fam - h%?o_o‘js
| 0 (30% &If) | 4
ofmo 00 |
| T ]

3

80 fFmT (450 9fy ) 360

70 fdur (8.00 uﬁ#'ﬁFUT) 560

150 fu - 920

s
1 115{%_711_1._ 920

From the following details of a brass foundry calculate
material variances :

| Standard Mix
| 3
Copper 60 kg @ T 5 per kg 300
Zinc 40 kg @ T 10 per kg 400
100 700
30 ( yO% loqs)‘_ ) I SR
70 ke | 700 |
A
) P.T.O
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[(10] BD-204,

Actual Mix

2

80 kg (@ T 4.50 per kg - 360
70 kg @ ¥ 8.00 per kg 560
150 kg, 920

35

115k | 920
. o |

(Or)

M AN AR @ @ gue fAfvs s SE
afed aman #ifg |

What is Labour Cost Variance ° Explain its various
components along with their formula.

. 400
BD-2045 5.6




Roll No,

B-2034

B. Com. (Part IIl) EXAMINA TION, 2018
(Compulsory)
Paper Second
INDIRECT TAXES
Time : Three Hours ] [ Maximum Marks : 75
[ Minimum Pass Marks : 25
Al : W U Y S R AR Y% TaE W U g el
ARl € 1 Wl weR & e T R
Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

JHR—1
(UNIT—1)
1. P SO Yob FRFRM & el P @ Pt @
a1 AT B ? ISRV Aied WE DI |

What is ‘Manufacture’ and ‘Manufacturer’ under the Centra|
Excise Act ? Clear with examples.

3Fort

(Or)
G IAC qed AR b I qY GE @) i
Ffory | @ el 1 RTd @ e fawg vme o

A-87



[2] B-2034

Define the term Small Scale Industry (SSI) under Centry
Excise Act. Explain the various points relating to exemption
to SSI units.

IBIR—2
(UNIT—2)
m*«qzﬁﬁmﬁaww&wm?ﬁm:ﬁ?ﬁw

Explain the provisions regarding granting license.
suspension and surrender of licence under C. G. Excise Act.

3Rpar
(Or)

W, 2017 ¥ AR & AR [ § el qes gen
it frg w9 -

O e (73 3 2,400 97 g% ) 2000 q% ey
(i) AR I Al

1000 Y% e
(i) =31 99 3 forg wify 50 frarT
(iv) 91T "ier PR @) W 100 fHairoms
V) TRo-fiaa 9 o CIRE
D B 500 Y% eieR

M) R (e % 1,630 oY 7 deR) 200 YF Hew
(Vi) fETe (709 T 1,950 gfy % <lleR) 400 Y% efex
(viii) arer <oy wfey 100 Y% @ex
(X) ¥4 (00 T 2,020 ¥y yw ) 300 J% &flex
(x) gl (AT % 2,600 YRy T AR) 200 \;Lcﬁ Arex
BTG MABN JRIH & iy 2 TR DI IO BT

A-87
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[3] B-2034
'he tollowing Intoxicants were issued  from Rarpur
warchouse during the month of June, 2017
(1) Whisky (Rate ¥ 2,400 perP. L)) 2000 Proof litre
(1) Spiced Country liquor 1000 Proof litre
(iii)  Bhang for medicinal use 50 kg

(iv)  Bhang to a contractor of Bhang
Ghonta 100 kg

(V) Rum to the authorised canteen of

Indo-Tibet Border Police 500 Proof litre

(vi)  Gin (Rate % 1,630 per P. L.) 200 Proof litre

(vii)  Cordial (Rate ¥ 1,950 per P. L.) 400 Proof litre

(viii)  Plain Country Liquor 100 Proof litre

(ix)  Rum (Rate ¥ 2,020 per P. L.)
(x)  Brandy (Rate<¥ 2,600 per P. L.)

Calculate the tax payable under the C. G. Excise Duty Act.

IPIE—3

300 Proof litre

200 Proof litre

(UNIT—3)
(i) 3mrd Rae
(ii) G Iob &
(iii) AT

Explain the following terms of the Customs Act :
(1) Import manifest

(i) Customs Area

(iii) Goods

A-87 P.T.Q.



B-2034
[4]

Jdl
(()I')

1 =0 000 ST\'N II(;!]

-3 aRa 8 50,000 3

Co 3{t?ﬁtm = faRur 39 UeR ©

T ool

- Wﬂl‘ﬁ"ﬁ ) forg W 3 U (BT T

R0l q;f.-(” HTod I()“

i 5000 SIeR
1) 5
| s e afeRe &7 9 aﬁﬁ:m
R H ptl )
2 Wﬁ e 2000 SR
s 250 ©lelR
(iii) dET 00
(1v) ?Fj? sl
W) STEESE 3 Bl wdl @ H TG NP V‘,
| 3 TAvE @ SRR FT A B 500?1?1"\,0\0
1 /0
|\'i) MW Wa } : AO .
\ .
(vi) SR of i ) 1 SleR 0
\ - 7 59
(vii) FFF TOR & A4 R IR Lob 12.5%
() T Rew G Oged aN [3(5) |@4% TE R

TUFY T Afe R 9o ¥ Suew 39 2u 2

An importer has imported raw material from America at a
Cost of 50,000 dollars. Other details

S ,'
are as follows
(1)

Goods were packed for which packing
charges were charged

5000 dollars

1 Goods were stuffod In returnable container,

price of container jg

2000 dollars

2"\.() \{k)“i““'

0 Insurance chirpes
(1v)  Sea frejph ofh. g
) Seafreiphy Charpes 4000 dollars



(5] B-2034
() Importer had paid commission 1o broker

in America who arranged the transaction 500 dollars

i) Customs duty 10%
\(vii) Rate of Exchangs I dollar = % 60
(viii) Excise duty on Similar goods in India is 12.5%

(ix) SAD [3(5)] @ 4% and education cess and SHEC @
3% 1s also leviable.

Find the customs duty payable.

SIR—4

(UNIT—4)

£ TG 3 AW @Y S orivdin @R @ iy &g
.H‘s’aaﬁaﬁaﬁﬁ%lmmﬁmmﬁ
T Y T E 7

numerate the goods which have been declared of special

wportance in  Inter-state trade or commerce. What
strictions have been imposed regarding to these things ?

34T
(Or)
bt me W G BT oR aRfaE @ s 78
B‘;ﬂ?aﬁaﬁwﬁnﬁafmaﬁﬁaﬁmmaﬁm

U
7

N

(i) o= & (A (OHRTeE H 1% 9

FRAT) (3.78,000
(i) @@ & gore @ B F W
§ ST el Uove A ¥ 3,00,000 @
| w o fou oF AT R C
l (Tove 7 T 3,75,000 &1 Hd ad]

TS GST ?.—\’ |4i“/u) /’. “,.l)“\l

P.T O



fou 4 98 @ 6,00,000 (3

; 3,00,000 (7
14.5% -

N gdad @ B W g A W

" ?g‘aﬁ GG TallRl 'wvr—qﬂ
ﬁaﬁﬁmgm%(‘ﬂﬂﬁ‘ﬁ”ﬂﬂ. | |
R R B R 5% B) 8,00,000 (@

(vii) 8¢ @ Rene &1 IR fand ;
R0 @ R 14.5%) ,

3,18,000 (; h

—

viii $T\iﬁ?§ﬂmﬁ
(l) %mmmﬁ‘c fasma
Far 4 " @ gl fashar @
@M ¥ o ot (o8 7 9T I

s
N 1% %) 6,50,000 (Zﬁ—\Ju

Compute the amount of tax payable under the Central !

Tax Act on the basis of the following information for the!
quarter of 2016-17 :

(i) Export of Sugar (Taxable () |,

in Chhattisgarh)

A-87 L*/



v)

ih)

iii)

(7]

oods sent o agent at Kolkata

against Form F ('The agent sold

' 'goods T 3,75,000. Tax Rate

14.5%). The agent did not sent
Form “F’ for goods worth
T 3,00,000.

Sales of goads to the Gujarat
Government (State rate is 5%)

Sale of declared goods to
unregistered dealer (The rate of
tax on such goods in 5% in the
State)

Sales to a registered dealer for
resale on Form C of such goods
which have been given in his
registration certificate and rate of
tax in the state is 14.5%.

Sales to a registered dealer of
such goods which have not been
given in his registration
certificate (The rate of tax on
such goods in the state is 5%)

Interstate Sale of Cigarettes and
Bidis (state Rate 14.5%)

Sale of ornaments without Form
‘C’ to a registered dealer of
Gujarat (Rate of VAT in
Chhattisgarh 1%). The buyer
taken delivery of goods at the
dealers shop.

B-2034

40,000

3,18,000

(Taxable Sales)

6,00,000
(Taxable Sales)

3,00,000
(Taxable Sales)

8,00,000
(Taxable Sales)

50,000

(.50.000

(Taxable Sales)

P.T.O

I .. - N
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[8]
B,
gHIg—5 i
(UNIT—5) - h
FAINTTE aftfeue B AR G EREI Ib.\,%!' N G0
Q * 3 d 3 |
1{1] QT\lﬂ aﬁﬁ‘f('l |
present a st of exempted goods under hhagg (1
>SN0 l\ )
Commercial Tax Act. q @
3] (il
(Or) |
Sy e N BT fad faaReT 1 R @ ((’
|
() I e Rpd (FE 9 ) 1
(i) TchH TSN | 7
(i) TR @ 9 (F9H T 200 9P AN qTod i
g7l P faHd e T 9,600 WM ) 3%
(v) qrA-fifear (Fafar @ ) al €
(v) o U | ol ©
(VI) Q] . ]0‘4 La
\ . m‘
(vii) R T4 A1el o
(viii) - fefiftes (Gofed amar) & 9) 8l
(ix) @ERmam - %) o
() a7 91 e (e ) :78
Xi) el (@ E 9 ) e
T B g A W 7 3000 @ T AED 1A
m'w‘ﬁﬁwﬁwwﬁl?moé 0
5 o & and e e
mﬁ“"ﬁ'mmmaﬁm - by
A-87

A
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e following particulars are sales made by Priya General

stores -
L4
(i) Shampoo (Purchased from Mumbai) 38.000
(i) Talcum Powder 37.000
(i) Spectacles (Including Sales ¥ 9,600 of
Spectacles price upto T 200) 38,500
(iv) Kumkum-Bindiya 13,000
(v)  Ladies Purse l‘2,000
(vi) Kajal 10,000
(vil) Nirodh and Mala-D 20,000
(viii) Lipstik (From Registered Dealer) 15,000
(ixX) Vanishing Cream 25,000
(x) Glass bangles (From Bangalore) 18,000
(xi) Mangal-Sutra (Purchased from Chennai) 12,000

Ladies purse ¥ 3,000 were returned by customers within a
month. Mangal-Sutra price was ¥ 400 cach. The sales of
Talcum Powder include the sale of ¥ 12,000 to Rajasthan

dealer.
Compute the taxable turnover of the dealer.

/

234 R.700
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BD-2046

“om. (Part TIT) EXAMINATION
(Compul. iry)
Paper ¥ty
AUDITITN G
Time : Three Hours

Maximum Marks - 73

Mivimum Pass Marks - 23

...................

------------

, 2018

O T F TR AR YRS 36T ¥ e g

gfvad & i wet & o 9

Attempt all the five questions. One question {rom cach
Uikt as compulsory. Ali questions carry equal imarks.

TIR—1

‘ (UNIT—1) |
;wmg‘—?maﬁm,wwmmm

Y |

!‘.31 is Audmng ? Explain its objects.
,\knt

RIq|
(Or)
WI jer :"T‘:' .

e and

D T




(21
By,

: L
hort notes 01 the followIng -
st

“.Tih‘
(a) Audit not¢ pook
(b) yudit € idence
—2

e q0 3 g T
7 e |

What s internal check ? Explain its objects, me
4 [

demcrit.
G

e following:

Verification of assets

Verification of liabilities

(b)
| T3

(UNIT—3)
st FEd @ dUTe PRl T Fadl @
BT |

uties of 2 B

Discuss the statutory rights and d

(a)

~

K/

Company.




[3]
Write short notes on the following
(a) Audit of Educational Institution

(b) Audit of Insurance Company
: TR
(UNIT—4)
RAl & qeules 7 32wt &1 qolT T |
Explain the evaluation and objects of liability.

AT
(Or)

frefafaa w v Rwhrit Ry -
(@1) e BRI
(@) TRET &1 qearea
Write short notes on the following :
(a) Audit programme
(b) Valuation of assets

‘ .

(UNIT—S5)

i siPemr BT Iy AHEEd |

Explain the objectives of financial audit.
4T
(Or)
fer=iforRea o= wiféra fewfrt R -
(&) soers 31 fgfaa
(@) 3rderd @ Fgan
Write short notes on the fdllowing :

(a) Appointment of auditor
(b) Qualification of auditor

BD-2046

A-12

5,600
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BD-2053

(Part I10) EXAMINATION, 2018
(Optional Group~D)
Banking anq Insurance Area)
Paper First
FUNDAMENTAL OF INSURANCE
Time : Three Hours
Maximum Marks - 75
Minimum pags Marks : 25
T Wl A S S A g
P AN 2| Y et B g

Attempt all the five
Unit is compulsory.,

B. Com.

(Money,

PR W P yug
TE § |

questions. One question from each
All questions carry equal marks.

SPIE—1
(UNIT—1)

1. mﬁmmmmwamﬁwmmmwa
H @1 wEd ? ?

Explain the theory of Insurance. W
theory of probability in the field of i
3erqr
(Or)
AT s B affavr @i qur wila dy
afergfed @ arpamr o arav e o |
Classify the insurance contracts and distinguish between
the C()ntl'\acts' of life insurance and ind.

hat is the role of the
nsurance ?

AR

mnity insurance

] )ﬂ
A_17 r‘. ]. L

A



BD-

./2) .
(UNIT o
el B |
qefd B
) @

3 m@?aﬁﬁmﬂmml

Explain the procedure for becoming an insurance agent.
Jydr
(Or) \'
1 T ) el Y R T qn <l @ R
& T H Pty |

| _ i : and
Discuss the insurance agent services regarding loan
settlement of claims.

ThIS—4
(UNIT—4)




nd

_

‘\ A-17

BD-2053

[3]

R[]
(Or)

M T D RS weR ww § 2 yoie B ane

-2 T |

What are the various kinds of insurance organization ?
Explain the relative merits and demerits of each.

Write short notes on the following :
(1)  War Risk Insurance
(i) Rain insurance
(iii) Cancer Insurance
3RIEr

(Or)
A 4 B & B R @

Explain the scope of Fire Insurance.

" +bo
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BD-2051

B. Com. (Part II) EXAMINATION, 2018
(Optional Group—C)
(Commercial Area)
Paper First

INFORMATION TECHNOLOGY AND ITS
APPLICATION IN BUSINESS

Time : Three Hours
Maximum Marks : 75

Note : Attempt any rwo parts from each Unit. All questions
carry equal marks.

Unit—I

1. (a) Explain Information revolution and also explain
basic features of Information Technology.

(b) Write notes on the following :
(i) Internet

(i) Wireless Communication

(c) Explain impact of IT on business environment and
on social fabric.

Unit—II
2. (a) Explain the following :
(1)  Types of Computer

(i1) Electronic Data Processing



[2]

(b) Explain various number systems with examp|e

(c) Explain any three input devices.

Unit—III

\
\

3. (a) Explain the following :
(i) Printing Documents
(ii) Spell checking

(b) What is spreadsheet ? Explain absolute and relatjye
cell referencing.

(c) What is DBMS ? Explain sorting and indexing with
example.

Unit—IV
4. (2) Explain EDI and also explain advantage of EDI.

(b) Explain various EDI standards with example.

(¢) Explain Financial EDI for
transaction.

international trade

Unit—V

5. (@) What is Information System Audit 2 Explain
applications of information system audit in internet
environment.

(b)  Write notes on the following :

(1)  Client Server computing

(it) Distributeq computing
(¢) Explain the following :

(1) Domain Name System (DNS)

(1)  Generic To
P Level Dom i
BD_205] ain (GTLD)

1450
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‘BD-2047

B. Com. (Part III) EXAMINATION, 2018
(Optional Group A—Finance Area)
: | Paper First
FINANCIAL MANAGEMENT
| Time : Three Hours
- Maximum Marks : 75

Minimum Pass Marks : 25

e Wﬁwmﬁwﬁmluwcbscmségmuw

ST A 7 |/l geEl & ofw 9 2

Attempt all the five questions. One question from each

Unit is compulsory. All questions carry equal marks.
L g
o | (UNIT—1) |
e e W o9 @A GEd € 7 U@ geq §Ied @
Oy @ apraf o) wEn BRI
What do you understand by '/'BuSiness Finance ? Discuss

A . " a large
the functions of the Finance Manager ol
Organisation.

A-17 P.T.0.
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[2]
‘ 80‘2047
T
(Or)
a@mwmwmmﬂaﬁwéln

QAT A ARG fARare &1 quly g
operations.” Explain and discuss the basjc ch

of Financial Plan. .
IPR—2
(UNIT—2)

e

“Financial Planning is the key to Successfy]

aracte

Rty

Mg,

USinesg

TR for aﬁvsﬁﬂi‘a’am‘a’ﬁﬁqzﬁaﬁmm
a@eﬁélsﬂaﬁwﬁﬁﬁmﬁﬁﬁﬁr@aw
;amﬁasﬁaq(aﬁﬁ) | 10 10

T 71 9 (2) | 3.00,000 3,60,000
T B iR T ) 24,0001 32,000
T R iR qm (7) 14,000 | 22,000
_WW 1,38,000 | 1,79,000
gﬁmfmw-waﬁﬁq%%wﬁ

A-17

X llld. W



! [3] BD-2047

Machine A Machine B

1-‘stimulcd life (in year) 10 10
Cost of machine (}) 3,00,000 | 00,000 |
Additional cost of
‘supcrvision S 24.000 32.000
1 Additional cost of |
‘ maintenance (3) 14,000 22.000 |
Estimated savings in wages },
| | 138,000 179,000

per year %)

I

L ———

Explain which machine is to be purchased on the basis of
pay-back period. )
3l
(Or)
o @d aRareT B ATEDdl PRy &g freferiad
ffrgt @ e fareH @ aofa T @ren BT
@) S-dw dRas faE \
@ fafrEem w g fafer
ain the salient features of the following

Discuss and expl
ertaining the profitability of capital

methods for asc
expenditure projects :

(a) Pay-back period method

(b) Returnon investment method

THE—3
(UNIT—3)
3 g @ ard @ Rfr o @-a § 2 ulauiia e )
SrTd @dr & 7 ¢ WH afer faptaa @) erd IR GLALIAGS
) ST Y

A-17 P.T.0.
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A-17

[4]
B
ts of cost of capital 2 Wh

- -~ the C onen
What are the comp at i

. 9 How s ‘ .

cost of retained carnings ? How is the cost of e, o .

- b4 ¢ ll

chare 1ssues detexmmed ? ,
| arerdr
(Or)

g gy |

What is financial leverage ? How is it calculateq 9
Discuss its effects.

ShR—4

© ' (UNIT—4)
) e ot wRa @ Ry aarsd |

Narrate the features of optimum capital structure.

@ v for @1 REam Seres @™ T 4,00,000 3
F d U T 10,00,000 B FUIH (10%) B
Taa! Tfead] Toll @ ATd 15% AT © |3
@Wﬂ%ﬁlﬁ}[gﬁﬁ
() WRFE SURH $ rdid eREl BT g

1w FuiRa #fg ) -

i) B Goevr @R AR offaRe ST gl HOR
"% () B/S G (1) B/V @1 TUFT BT
(i) F¢0 e fve @ afoRad T 5,00,000

FE @ i gR g ® AR AR
§ AR W e @ A g ghad) @ T
I
IREERY K, qgay 12% AR K, 18% 0@
& B amie 21 @ o gw AT T

W a2 S
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Current operating income of X |1d. js ? 4 00.000

10.00.000 debentures of 10w,
outstanding. Its cost of equity capit

The company has
al 1s estimated 1o
be 15%. You are required to :

(1) Determine the current value

of the company
under traditional approach.

(i) Calculate overall capitalisation rule as well as
leverage ratio both types (a) B/S and (b) B/V.

(ii) The company is considering increasing its

leverage by issuing an additional ¥ 5.00.000

- debentures and using the proceeds to retire that

much amount of equity. As a result of

increased financial risk, K; 1s expected to go

up to 12% and K, to 18%. Would you

recommend this plan ?

e
(Or)

Ioh Iram &R B & Ted & 9 R @) R I |

Explain the relationship between capital structure and
value of the firm.

IPE—5

(UNIT—5)

ST W @ AR B aniwl @ e gl @)
e I |

What is meant by dividend ? Explain the different forms
of dividends.

P.T.O.

&
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B
QT 0\2%
(Or)
3 - JdddTY
SR v, S Ud E”??%
I\I\'W‘ﬂ\ & "3, 34\"\1 Uh la%, forq U ATy ﬁi]{?n”_”
¥ drgg srdd ‘Fﬁ e R AR § ey g _E?.h

FIYAS B | ﬁ ™
o T8 3R oMoy as o -
TRl @ ford 10% ST @ | "
St
\ )
dIR AT 50,000
Tl JTdl 80,000
e [ 6 JarE 3,12,000
ﬁwf—d fa;ﬁ 1§ BISIE 7,80,000 -

) @@ F YA A AR
A 12 T 26,00,000
97 7 vt wid (T ) 9,60,000

- ' business,
Ram and Shyam who are willing to purchase " kel
. e e ar
have consulted You and one point, on which yo'% capital
_ ‘ n
Lo advise them, is the average amount of working

. ¢ years
which would need to be employed in the firs
trading.

10

d
: uestet
70U are piven the ahead estimates and red ol

to a“ow
add 10y, 0 your computed figure
contingencjes :
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Average amount of stocks :
Finished Goods

Raw materials

(a)

(b) Average credit given :
Home sales 6 weeks

Export sales 1% weeks
(c) Lagin payment of expenses :
Wages 1% weeks

Other expenses including

materials (one month)

D-2047

‘17

BD-2047

Perﬂnnun|

(2)
50.000
80.000

3,12,000
7.80,000

26,00,000

9,60,000

3,700

p—
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4

B. Com. (Part IIl) EXAMINATION. 2018
(Compulsory)
Paper Fourih
AUDITING

Time . Three Hours ) [ Maximum Marks - 75

[ Minimum Pass Marks - 25

e : mﬁﬁmuﬁ%wéﬁmluﬁzﬁmﬁwm
BAT AR € | T ue F oo e B
Attempt all the five questions e question from

cach Unit Is.compulsory. All questions carry equal
marks.

ThHe—1
- ' (UNIT—1)
TR RWT Edr ® OE] qRauTel @ATE Blal @ aiR
DL AR BT B A€l of@Iidd GHIG gl 17 TF FeT

P ARGT BT |

“Where Book-keeping ends Accountancy begins and

when Accountancy end Auditing begins ™ Explain this

Statement.

A-122



L.Qm

(2] B 203,

. File and Working Papers and Evidences

WW%?W-WﬁWWWﬁﬁ
amﬁmwmmwﬂﬁmm
¢ 7 we i |

What do you mean by Verification 2 WIY s

verification of assets and liabilities done 1n addition t©

vouching and accounts books ? Explain. |
Ay
gy | 77 i ﬁﬁ%?maﬁu@fﬂm
N frefsm @ @9 e 7
s Internal Check 2 Suate its objectiVe? and

adVént-
ages. How is it ;i 9
Is it different from internal Ct“‘““l '
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FHE—3

(UNIT—3)

prrod ARG A T B P AT IR & R A R
R F BB A wEuE 6 T o3y e §
YD B By FARY|

What is divisible profit 2 What are the provisions made
by the Companies Act in respect to distribution of

dividend ? Explain auditor’s duties in this regard.
HYdr
(Or)
PR ADHE W T AW R P HEA o RHE B
TRl @ a9t Ay
What do you mean by Company Auditor ? Discuss the
liabilities of Company Auditor.

TPR—4
| (UNIT—4)
TIRI 9 JDeT A A4S FRAT| UF e @ Ry ar

ﬁ?ﬁamﬁmmlaﬂﬁmfﬁﬁﬁﬁﬁﬂmﬁwm
T qEESE 2

Differentiate between

Investigation  and Auditing
Discuss the process of Investigation in detail. W
matters should be kept in mind before

3T

(Or)

WT?F{:WQHWG- HOWER are we BIRTT |
mwwﬁzﬁa%wraﬁwmﬁ%aémzﬁﬁm 5 2

, - tween vouching, verification
and valuation. What are the duties of auditor wiily
_“WSpect to each of them 2

hat
Investigation °

" -y



[4]
SHIE—5

(UNIT—5)

Th Eﬁm"ﬁ FDHLTD Eil T, ﬁgﬁﬂ Td QANOH ¥ GG

n the main provisions regarding qualificatiog

Explai
ation of a company auditor.

appointment and resign
3edl
. (Or)
e e 7 gEG Shedl B Ry T
siem 3 fvd yeR e T 7 |

What 1 _
. at is Management Audit ? Discuss its object'®
ow does it differ from Financial Audit ?
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B. Com. (Part III) EXAMINATION, 2018

(Optional Group A— Finance Area )
Paper First
FINANCIAL MANAGEMENT

Time : Three Hours ] _ [ Maximum Marks = 75

e Wi o ge & IR AR | GAS FIIE § U@ T B
sy 1 wf gl & 3P FHA €|
Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

THIE—1
(UNIT—1)
R wenr @ gafEl § garfed g9 e W& g 17 g6
B! IETERYT Afed @Rl o |
. “Finance is the Life blood of Industry.” Elucidate this
Statement with suitable illustrations.
aperdl
(Or) |
B & @ e Afe) fAd Rl @ ask s @l
ARaq aﬁﬁﬂql

Define Finance Function. Discuss its nature and scope

-2 P.1.0
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FHIE—2

(UNIT—2)

2. N g § U R T ¥ ? G wd Py

IR aTel PRD| B ARV |

What is Capital Budgeting ? State the factors affecy;

-y

Ty

\

TR

capital expenditures decisions. !
- \
(Or) |
INA . B WY & W Q) IR 9 d @ R
g | Suae faaRy R

| aREGT ‘& | oRaeE

AT % ) 10,000 10,000
HIAT e et (a #) 4 6
T D

o 5,000 1,000

Tecf o 4,000 2,000 |
| T 3,000 3,000
T 1,000 4.000
; o B 5.000
B‘o’r a 6,000

R | |

;‘f; ;ﬁ;;?%u@im e | fafyam g A et
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-~

B-2037
rwo Projects A and B ape

‘management of TOREX 1.4

before consideration f the
I'he particulars available re

Project A - Project B

Cost (in %) ‘ 10,000 | 10.000
Economies life (in years) ; 4 ; 6
Earning before depreciation '

Year | 5,000 | 000

Year 2 4,000 , 2,000

Year 3 3,000 ; 3.000

Year 4 1,000 | 4,000

Year 5 - | 5.000

Year 6 - 6,000

Which project should be preferred ? Use Unadjusted Return
on Investment method.

THE—3

(UNIT—3)

T B A T 100 AR 10% e @ifeR s i
ﬁﬁ%ﬁma@a‘aﬁﬁsﬁm%lwﬁﬁwz%?l
meafmiiﬁaﬁmamﬁml

A company has issued 10% redeemable preference shares of
2100 each. These are redeemable at the end of 10th year.

The underwitting costs come to 2%. Calculate the cost of
Preference share capital.

arordr

(Or)
8 gz qfigrad ol O fha ave el
SSTER Hed ey diforo |

l I‘l \vh

| ( \ ‘Tagde : ) L8] apaeratimy
al \\u!\' [ '”“”l “l' I'-.Vl Fage I l"l‘ ki ¢ ‘

Age ? Eaplain with example

8.2 P.T.0
-
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¥*-20y

§HIg 4
(UNIT —4)

s U@ A @ A T1,00000 &1 A B GR oaf g
o gfad QA & R Fo @ W T 4,00,000 7 100, 4
B ooy Q) @ w9 AR adE A R A oy g
B A 12.50% £ DA B A IR GA B g
S[g M SUTH B A T HAC 1 Al F B 2100
QA 9 four o W 9 P RW A, @ A B A w
R A T G R Y& I SUTH G JTHR T PG 72

A company has eaming ¥ 1,00,000. The capital structure
the company contains debt as well as equity in which debi s
7 4.00.000 borrowed at the rate 10%. Presently the cost f
equity capital of the company is 12.50%. Find out total valu:
of the company and the overall cost of capital using N
Income approach. If debt is increased or reduced b
Z 1.00,000 what will be effect on value of the company ané
on overall cost of capital as per Net Income approach ?

3Rrar
(Or)
e N 7 2 ? 39 FRS B e B A 7@ 7
#1 e s & AuiRa s 21

What is Dividend Policy ? Explain the various fact’
determining the dividend policy of a company.
TPR—5
) (UNIT—S5) ]
%ﬂ%ﬁiﬁmmmwmmﬁwﬁﬁ“

[$))

What factors should be considered while estimating worki 1
capital ? '
JUqr
(Or)

WWJ%ﬁIﬁmmvﬁaﬁ’lﬁ?qamﬁml

Explain in detail the various steps of Cash Managemen!

I.'“N,

B-2037

\

12
PP e - e — o



RollNo. ...

BD-2054

B. Com. (Part I1I) EXAMINATION, 2018
(Optional Group : D)
(Money, Banking and Insurance Area)
Paper Second
MONEY AND BANKING SYSTEM

Time : Three Hours

Maximum Marks : 75
A T o g & SR T TAE IHIE | U U
Fer afaad 2 1 ol weEl & ofe 9 2|

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

THRE—1
(UNIT—1)
1 Wﬁqﬁg,wmmwﬁw«mwm
21" W g qur qa1 @ i b g SR

“Money is the pivot, around which the economic science

clusters.” Explain the statement and discuss the functions
of money.

L.1‘7

N



(2] BD-205,

JYyarl

(Or)
gmm%?ﬁﬁ%amﬁgﬂ$mmgm
¥ qoiq S|

What is Money ? Explain briefly the importance of mon,

in a planned economy:-
FIR—2

(UNIT—2)
2 mem%g@m P A |

Explain the important functions of Modern Commercil
Banks. 1
3rR[ar
(Or)
&g Rod §5 @ @@l 3 QdE HINY |
Discuss the functions of Reserve Bank of India.
TPE—3

(UNIT—3)
\ weard da w an den e R @ S
yrgeT! &1 Ui SIS |

Describe the main provisions of Banking Regulati
applicable on Co-operative Bank.

on A¢

3per
(Or) y
i Prem o, 1047 @ sRe W@ o
=T @ aaEs |
B;mki'“"

Explain the history and social control of
Regulation Act, 1947.

A-17




[3]
§HIY—4
(UNIT—4)

m%ﬁmmﬁwﬁwﬁwmﬁmfﬁm
WT@%?WW&{WWW%?W@R%@
@HWl

How much Regional Rural Bank’s (RRB) are successful
in achievement their objectives ? What problems have
peen facing by them ? Give suggestions for improvement.

3T
(Or)
IR H FEBWI ddi B BRI UR Teh o forfay |

Write an essay on working of Co-operative Banks in
India.

SBIE—5

(UNIT—S5)

5. Rod §@ it sfiear &) enger f6A Stwal & & Ty o ?
Iy @l gw Rod 99 3 Ol ROl o Sifu| &
@El ao Rig far 8 7

Why was Reserve Bank of India established ? How far

has it justified its establishment by performing various
functions 2

3rerdr

(Or)
T 4% o g @ wral B bl [ad ¥ weng |
Explain in brief the functions of State Bank of India.

B
D-2054 1750

A1y

-
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B. Com. (Part I11) EXAMINATION, 2018

(Optional Group—C)
(Commercial Area)

Paper Second
ESSENTIALS OF e-COMMERCE
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25

Note : Attempt any fwo parts from each question. All

(b)

()

2 (a)

A-15

questions carry equal marks.

Unit—I1
What is e-Commerce ? Explain advantages and
disadvantages of e-Cominerce.

Describe the management issues relating to e-

Comimerce.

Write short notes on the following :

(i) SHTTP

(ii) Credit Card Transaction
Unit—I1I

Explain B2C model with appropriate example.

P.T. O.



[2]
(b) Explain online travel and tourism services with
suitable example.

(c) What is online stock trading ? Explain the benefis
of online stock trading.

Unit—III
3. (a) Describe application of B2B model.
(b) Explain Internet-based EDI.
(c) Write short notes on the following :
(i) Key technologies for B2B
(ii) Just in Time delivery in B2B
Unit—IV

4. (a) What is e-Governance ? Explain advantages of E-
Governance.

(b) Explain the concept of G2B and C2G with suitable
example.

(c) Explain Private Sector interface in e-Governance.

Unit—V
5. (a) Describe any two emerging business models.
(b) Explain Advisory model with appropriate example:
(c) Describe emerging models in India.
BD-20532

A 18 .‘

- i

e i e



RO NO. i

BD-2048

B. Com. (Part III) EXAMINATION, 2018

(Optional Group A—Finance Area)
Paper Second
FINANCIAL MARKET OPERATIONS
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks : 25

e: o i gl & SR Y| TS IIE W U 9
- T Afard 2 | it el & 3 9EH B

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

. ZPIE—1
(UNIT—1)
T INR @) g wonel ¥ wewgel e 81 Ue I
TR & qf od qar 2 ?

The role of money market is important in financial

System. What are the prerequisites of a good money
market 7

v

QT
“ (or) .
T En vd “eima qET W AR BN ARG T W a
T el i 78 & ? .
I )islinguish between “Discount Houses” and “Acceptance
H17Uses.” Why are these houses not popular in India ?

M S e T
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§HIE—2
(U NIT—2) S

—— R A
@Wﬁ,a&waﬁﬁiﬁl

What do you mean by stoc

J
&

k exchange 7 Explain it

functions and role.

J&ar
(Or)
Ww@'ﬂmﬁqﬁ’aﬁmwmaﬁm@“
P | |
Discuss the objective and functions of National Stock
Exchange in India.
TIR—3

(UNIT—3) ;
3. WRR[d e v fAOwe areifeoE, 1956 @ u'g@maw

qaTsd | |

Describe the main.provisions of Securities Contract and
Regulation Act, 1956.

Sy

(Or) 3

Favat & = ) _ | ,

e s TG R gk g 2 9
| T I9erag 2 7
What are .

the prominen; investors grievances ? what




[3]
TP
(UNIT—4)

mﬁ&m.%?wﬁmle’tﬁm%mm
wdan B fdd= IR |

what is Jobber ? Explain. Describe his duties towards
customers.

JiRyar
(Or)
) wRmTE e @ S o
7)) T D B
7)) FUERY ARG B ARG § R 3 s
Describe the following :
(a) Institutional investors and their functions
(b) Functions of broker
(¢) Investment avenues of non-resident Indians
THE—S5
(UNIT—5)

i WHe @ WewEqyl [AvAl &I WHAIgd | W b
7 I BYe g 9 B9 © 7

Explain the important issues of rating. Which elements
are affecting credit rating ?

Jerar

(Or)
e W @ g qur @wed & 2 R B owfaa B
T wewi F1 udieror SR |

What do you understand by credit rating ? Explain the

fact e . . .
ACtors which influence the rating.

B
P-2043 3,700

Ay
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BD-2055

B. Com. (Part III) EXAMINATION, 2018
COMPUTER APPLICATION
Paper First
(Programming in Visual Basic)
Time : Three Hours
Maximum Marks : 50

Note : Attempt any rwo parts from each Unit. All questions
carry equal marks.

Unit—I

l. (a) Write full form of GUI and describe the elements of
IDE.

(b) Define constant and variable with example.
(c) Write the name of any five control and their rwo
properties.
Unit—II

2. (a) Describe status bar and tool bar

’ one example ol
(b) Explain hranching statement with one example

programn.

(c) Describe frame control ment.



.

[2]

Unit—TI11

Explain call by value and call by refere,..
S With
example.

(b) Describe inline error handling.

(c) Define local window and watch window,

Unit—IV
4. (a) Describe organization of a file.
(b) Write short notes on the following :
(i) Dialog box
(i) Picture box
(c) Differentiate between MDI and SDI.
Unit—V
5. (a) Explain Active X data object with example.
(b) Write steps to create Crystal Report.

(c) Write any o commands of structured query
language.

e
BD-2055 b

A-15
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B. Com. (Part IIT) EXAMINATION, 2018
COMPUTER APPLICATION
Paper Second

(System and Analysis and Design and MIS)

lime : Three Hours | [ Maximum Marks - 50

Note : Attempt any mwo parts from each question. All questions
carry equal marks.

Unit—I
l. (@) What is system ? Write the characteristics and types of

system.

(b) Explain the working of system development life cycle.

(c) Write the working of system analyst in any MIS
organization.

Unit—II

~~o
—
(=
—

Explain the different information gathering tools.

Perform a comparative study between decision table,
decision tree and structured English.

(©)  What are the different symbols we used to make a
DFD ? Explain with proper example.
Unit—IIl
by,
d)

Explain quality assurance 7 What are the measurement

Cnteria to assure the quality of software

(B-30) P. 1.0
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» Wi e the steps required 1n Post lmplemema‘m
re\/iew ? .

why do we use systerm testing in SDLC ? What wijj
don; by the programmef after system testing ? ‘

Unit—IV

()

What is MIS ? HOW do MIS help in better managep,,
of an organization ?

(b) Explain the working of decision-making.

(c) What are the advantages of MIS.?

Unit—V

5. (a) Write the difference between the following :
(i) Open and Close system
(i) MIS and Strategic system

(b) Write a short note on business function information
system.

(c) Differentiate between TPS (Transaction Processin
System) and MIS (Management Information Systen

B-204¢
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BD-2053

B. Com. (Part III) EXAMINATION, 2018

(Optional Group—D)
(Money, Banking and Insurance Area)
Paper First
FUNDAMENTAL OF INSURANCE
Time : Three Hours
Maximum Marks : 75
Minimum Pass Marks - 25

%:mﬂq‘hmzktﬁvé’rﬁmmmﬁwqw

S At 21 9 wed & o g9 #

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks

§BIE— 1

(UNIT—1)

L B Rgr weeed | @wifiar Rierd @ 4 B &

A @ wgeq @ 2

Explain the theory of Insurance. What is the role of the
theory of probability in the field of insurance ?

ar

(Or)
Al ST @1 geffavor aifre qen o @ sre o
"l Aqq 1 3w W ATy |
(llassirYJh(: insurance contracts and distinguish bet o
M)

€ c g . .
“Ontracts of Jife msurance and indemnity msuran.

S



o 8D-20s,
FHIE—2

(UNIT—2) X
wﬂmmaﬁ ard gl 1 A= B

Explain the working of an insurance agent.
3ar
(Or)
@ wod a9 T B o FT g DIFT |
Discuss the qualities of a successful Insurance Agent.
FIR—3

(UNIT—3)
3 mmmamwma&m|

Explain the procedure for becoming an insurance agent.
3Rrar
(Or)
& Torel @) Qe @ RdE o qen Tl @ R
3 g9 ¥ DI |

. . . . and
Discuss the insurance agent services regarding loan
settlement of claims.

2

SPR—4
(UNIT—4)
. Frefefia o sty feofordt e
(4) faawor sjgen
(a) <fasy dv dras

Write short notes on the following :
(a) Distribution channel

[ .
(b) Lloyds insurance organisation

A-17
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yorar

(Or)
dm dTE @ RS TR ww € 0 gQde @ e
oY T |

What are the various kinds of insurance organization ?
Explain the relative merits and demerits of each.

FPIG—5

(UNIT—5)

. FefoRa w wfaa fewfrat o -
(i) Ig SMaw S
(i) a9t drar
(i) dER =T

Write short notes on the following :
()  War Risk Insurance
(ii) Rain insurance
(iii) Cancer Insurance
I=dl
(Or)
I A @ a o R AR

Explain the scope of Fire Insurance.

HD 2053 { +90O

U0
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B-2033
B. Com. (Part III) EXAMINATION. 2018
’ (Compulsory)
Paper First
INCOME TAX

lime : Three Hours | [ Maximum Marks -

75
[ Minimum Pass Marks - 25

e : SRR IEIEE 2 Rl v I ot R R —
e & | o geEt & e wE

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

THE—1

(UNIT—1)
0T af 2016-17 &k . T @1 o Ffe €

3
) U.S A Y ogar J I, & IRT 9§
ﬁa%a%mélwﬁmqu
o 1.60.000
(ii) Wﬁmﬁmﬂﬁﬁﬁﬂﬁﬁmw
N 32,000
(i) uifhear & @ft o, wRa @ T 40,000



[2]

| S-any,
() qa}.ﬁﬂmﬁf'\ﬁaﬂﬂﬂﬁ‘ﬂﬁaﬁ 32,00
(V) ﬁﬁ&ﬁﬁﬂﬁﬂvﬁ?wmww
H i . 40,00y
vi) T Reer § faeH 1 A SIER AR 3
T (e 80.00p

r-Pufe af 2017-18 B 0 AT B WES g o
e df ) IR @ (@) FaRl (@) SRR fg
() fyam € |

Mr. Chandan earns the following income during the financ|

year 2016-17 :

3
(i)  Profit eamed from business in U. S, A.
which is controlled from India. half the
profit being received in India 1,60,000
(ii)  Pension from former employer in India
received in Paris 32,000
(i1)  Income from agriculture in Pakistan and
brought to India 40,000
(i) Income from property in U. K. and
received there 32,00
(V) Pastuntaxed foreign income brought in 0
to India during the previous year s
(Vi)  Giftin foreign currency from a relative 0000
received in India e
he
Determine T . qndan for !
ine the Gross Total Income of Mr. Chand Nol

aszc?ssmem year 2017-18 if he is (a) Resident
or i :
narily resident and (c) Non-resident.
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HYqr
(Or)
frfoiad TR feufR fRifRae
(i) I F I
(i1) Fr-feior a9 3R T L
(iii) MHRHAD MY
Write notes on the following :
(i)  Partly agricultural income

(i) Assessment year and previous year

(ii1) Casual income
THE—2
(UNIT—2)

2 mwmﬁm(mzsmﬁaﬁm)ﬁﬁw
?l%?a,ooomﬁméﬁﬁmmmzo%ﬁméwmw
%‘lt{ﬁwaﬁm‘cﬁ‘w T 4,000; fIfdear = 7 6,000, I
¥ 16,000 AT, FHLH T 4,000 ¥ Bel @ 2| I O 3
VG 1o T o O qa srwhon W o fen g 2
Wﬁﬁﬁﬁmw % 24,000 A | S A T GRIw
TS WA At g & REer do9 sEm 7 300 o
700 WY ¥ o U@ ARl e gam @ Rrewr A 2 250
W%ﬂﬁﬁﬁﬁﬁﬂﬂ?ﬁﬁwﬁmﬁ%ﬁﬁqﬁﬁ?ﬁ@??
W Ry Pt 3 T ad 4 R B B2 6,000 @
T for @) Swah ax-Fka af 2017-18 @ oy Fwam
T B o i

Mahes}, an employee in a company in Agra (population
tXceeds 25 Lakh) is drawing T 8,000 p. m. as salary plus
A-a-‘

. T . . -



R

[4] &2033
@ 20% of his salary. He ig alsq e
6,000 and Commission ¥ 4,000, He i:

free unfurnished house OWned by 1
¢

Jearness allowance

n compensalo
3 é).OOO: Bonus 1
provided with a rent-

employer of the fair rental value of ¥ 24,000 per annup, ;.

is provided free ‘?f Ghatgs; 4 sweeper.and a Cook Whoge
wages are < 300 and T 700 p.m. respectively and g gardeng,
whose wages are ¥ 250 p. m. He is also given free electricity
for personal use for which the employer has paid % 6,000
during the year to electric supply company. Compute ;s
taxable salary for the assessment year 2017-18.

T 2 50,000 2, 3 5,000 AIRYS R w R

| W@u Rrafo § :

‘ o T | fadi A
e —— | ® | ®
T | 6,000 10,000

‘ - 100 1251
a, T g C—
q;{ﬁ: S 32,000 2,100/

R g o 1200
k3 01745 2 ma—— 450 e

TP AEEprym——k
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Mr. Rajesh has two houses. First, whose municipal valuation
is ¥ 37.500 is kept by him for his own residence and the
second, whose municipal valuation is ? 50,000 has been et
out @ < 5,000 P. M. Following are the ‘expenses relating to

these two houses :

o First House | Second House |
: S N 9 I Y N
Municipal Tax 6,000 10,000 |
Land Revenue 100 125 15
Interest on loan taken for
reconstruction of the
house 32,000 2,100
Eire Insurance Premium 450 1 ,20041.

Compute Mr. Rajesh’s income from house property for the
Assessment Year 2017-18.

TIR—3
(UNIT—3)

3mmwméimmwm
ﬁ“’@r@amm;

4

LR (1-4-2016) - | 8,000
e Yees 1,26,000
I B iy ¥ g 48,000
IR 3oz 58,000
TOR-TRY P | 6.000
| ?‘rﬁm@ SER 5.000

2,51,000




| ’

i
i ().()‘rh.
el 3,000
¥ 6,500
el 12,500
R P i 2,000
Wt T | . 48,000
g & 1,71.000
(31-3-2017)
jw'é ( 2,51,000

o 8w @ g T @, FOrieT ST A g o
mmwm%mﬁﬁﬁ:mﬁﬁwﬁﬁ%lm
¥ 9 B ¥ 6,000 o 99T & |

w-FfRe af 2017-18 B forT 99 @) @Al AT T DIV

. : ts
Dr. Sanjay Gujarati is a doctor. His Receipts and Paymen
Account is as follows ’

| 4 B
Bilance bid (14.2016) | 5000
 Consultatiop fees 1,26,000
Sale of medicineg 48,000
Operation fees ) 58,000
Property reng 6,000
| Gift from Patients 5.000 |
iv RS 251_000 i

-
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B-2033
Rent 6.000)
salary | 5,000
Medicines | 6.500
Scooter purchased : 12,500
Scooter expenses | 2.000
Household expenses 48.000 |

Balance ¢/d (31-3-20] 7)

1.71,000
”_\‘_\—\—g-—
2,51,000 |

- | T

The rent paid for such house half portion of which is used for

his clinic  and half portion for self residence., % of scooter

’Xpenses  in  related to his personal use. Outstanding
operation fees was ¥ 6,000.

Compute his professional income for the assessment year
017-18.
RAT
- (On)
ﬁ.amﬁaaﬁmwﬁmwﬁwmwé:

DI R 1,000 9T A€ W & we R W frar wg
T 7 1600 U WME R W ser Rl gwe
IR 37 Frol wifiiea @ W R 0 2 5000 R
TS garm | N
T WRA B | A 2 4,000 G |

Y @éwﬁm?s,ooowmﬁﬂ?(ﬁq)ﬁ
ST ¥ 500

" T



[8]
Wﬁmﬁﬁ‘lﬁ@m?wmo T
ﬁﬁm‘@Wﬁﬁmmﬁ‘ﬁﬁ ‘TmQOOI
. szﬁmﬁﬁaﬁ?soooo@mq_

520y
(@)

™

¥ 4,000 |

(@) fog o URAR BT 3 A fe 2 8500
(1) TEHR T § 9T AT X 6,000 |
o1 TRAT ¥ I AT BT

Mr. Akshya Jain’s income particulars are as under -

(a) He took a house on the rent of ¥ 1,000 per month and
let it out again for ¥ 1,600 per month. Besides if he
received T 5,000 rent from his ownership house.

(b)  Dividend from an Indian Company ¥ 4,000 (Gross).

(¢) Speculation business profit ¥ 6,000 and ¥ 500 from
cricket gambling.

(d)  Agriculturaj income in Pakistan I 10,000 was ™
bmught in India. ¥ 18,000 income from agﬁcunuml

land situateq at Kanpur,

o

¥4,000.

)

- Income T 8.500. _

d ¥ 6,000 from Co-operati*®

‘TOM other sources.




[9] B-2033

SHIg—4

3 (UNIT—4)

R r,ﬂ' BN L DEISH @ Td aN¥ 2016-17 & A= PR
) ﬁ’{ﬁﬂ] AT PT f?[ERT’T ﬁl_*l JhNN 'é .
! <
) o W 9 1,68.000
(i) TR ¥ 18.000
(iif) @MUR J A :
(@) PIS P ANR ¥ ™ 56,000
@ ® AR | & 66,000
(-\q) A D AR A EH 82,000
| (@) s % WE P AR W FH 15.000
" ) o W o g dfied @ o
% 40,000 TS B £0.000

w-fuRer ¥ 2016-17 (Td a9 2015-16) DI HBH-FART Gl
n E1 % 7,500 T oY WY 2| ' @ i dRd gU e
I A B TAUET BT | RO FIg &9, gfd & faw am o
10 Gmﬂ = '\q_cﬁ_cﬁ % ? €
3 l;;ir‘[iculr:lrs of taxable income under various heads of
I. Ankur Agrawal for the previous year 2016-17 are as under :

£ () In ?
come from salary ) 1,68,000
(i) Income from property | 18,000
1) Income from business :
4 (2) Profit from cloth business 35,000

-;
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B‘Zo;

(b) Loss from sugar business
66 ()¢
(c) Loss from silver business N ¥
. ' ,’14)
(d) Loss from shares speculation (
k) ]5‘(;}(

Incbme from other source included
income from lottery ¥ 40,000 60,0y
Loss from house property for the assessment year 20144

(previous year 2015-16) is brought forward ? 75
Compute gross total income after setting off the losses, |

there any loss which can be carry forward ?

IIqr

(Or)
Frefarfad fRaver § =-fRuRer a8 2017-18 & fory awar 4
@I AT DI

(iv)

{

qa+ Gfd A8 24000
qeTg <l Yid A8 2400
qe fbRraT W 9l AR (€ 6,000 ARG fd=ml

gor feil H) 4000

Wﬂwf%?zoooqmﬁmﬁwwrégs’?l%ﬁm;
& TR Jed 30,000 ?ltﬁaﬁﬁma
Wﬁsoo%‘tquﬁﬁﬂfwzﬁmﬂﬂ?ﬁwoq
éﬂ?'mma%mwmﬁm”ﬁwwﬂ
ATy Y T Sigw dm e g o W OET

I f&g - ’

¥ 9% W R e |

A4

e [e—



goad Fideve BUg CNHE 6 O
o . =~ ___ c
T §90-U3 V]I =789 & Jidd T 3 00

\R

L ® \ 1
_— ‘P"‘?L‘r.-.... 1A~ TN 9N49 o - — =
CEAGE P @l X1, 2012 & [} B T

7 |

From the following particulars. calculate the taxable incon

for the assessment vear 201 7. 8:

4

Salary per month 24.00
Deamess allowance per month 2.30¢
House rent allowance per month (rent paid in

Delhi ¥ 6.000 P. M) 4.00¢
House property is let out on a monthly rent of ¥ 2.000. The
Municipal value of the house property is ¥ 30.000. \Munic pal
Rx paid is T 1.800 for whole year. Interest payable un capita

borrowed for the construction of the house is 2 0.000
Re-payment of house building loans taken from friends 1s
¥5.000 and from Life Insurance Corporation is ¥ 3.000 |

3
Interes; on Saving Bank A ¢ 700
Interest onP.P.F A/c 2.00¢
Income from Units of Mutual Fund +.u00
\fe Insurance Premium 6.000
OMtribution (o Public Provident Fund SRULL
Merest aceryeq on N. S. C's VIII Issue OO0

 Construction of the building was completed on |t
“ary, 2015
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§PR—5
(UNIT——-5)
el @ B § 7 T B @ g

l .

ﬁ_ﬁuﬁm

GEEIRN : - - -
. Assessing Officer 2 Discuss its functions and righy
Who 15 ASSESTS

3Rydl

(Or)
R sfm @1 fxi a9 2017-18 3 forg A 9 & s
frefed © ?
() TR E RAFY A 14,05,000
(i) o S 9 ST 65,000

s o BT W e ST dm e o ¥l & e
meiﬂ;ﬁm?m,ooo 3| g8 URT 80D @ SFHIA T 4,00
Ferdl & U 2| | |
mmﬁmﬁm@ﬁﬁﬂéﬂﬁ@ﬁwwaﬁg
o T e @ afe L aft @) T e H 9T ©

W 7 1,685 PIeT 74T &

o . : inancid
Mr. Amit estimates his current income from the fi

year 2017-18 as follows ; 5
.‘ | 11,0500
(i) Taxable income from business 65,000

(i) Income from other sources of
life and

He has taken a Life Insurance Policy on his OWI' T2 for
which annual premium is 7 76,000. He is €lg!
deduction under Section 80 D 4,000. posil
: alculate advance (ay and find out amount 10 b¢ duﬂ'c;’
.w. different dages assuming that the deduction at sou
an income of Mr. Amit is 7 1 685, 0 000 ;.

L‘d
(111

B-2033

R
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PRINCIPLES OF MARKETING
ime : Three Hours ]

E:'Wﬁawaswﬂﬁannsﬁﬁ?wﬁﬁww

ng. Explain the nature, scope and main
Unctiong of marketing.

AT
(OF) R
Aoy TR, Fqr amm & 7 [quor araraRT @
Tl B qred Y& "ed biF-dbia § & 0 9|
- N r. . \“] )
Whay do you understand by Marketing l,n\num:u.lm“
o, ' ] RN -
hay ¢ the main factors affecting  ma
.I.W””“lllult ? Discuss.

. e .
‘



THR—2 ,

(UNIT—2)

> I @dER ¥ AT T e & ¢ fAE W Suwi
AGER B JAIT B T DY ATl DI |
What do you understand by Consumer Behaviour ?

Explain the importance of study of consumer behaviour

in marketing.
Jerar
| (Or)
TR Rfaexor &1 aef |EeIsy | aoR e @
farv fra-fFe oMY &1 wanT e e € 7

Explain the marketing segmentation. What criteria are
used for segmentation of a market ?

TPR—3
(UNIT—3)
3, Wﬁmwﬁ?wﬂémﬁm‘w:ﬁ%’m
qHY b gcdl @ &F ¥ Y@l 1Ry ?
What is Pricing ? Which factors should be kept in mind
by a new company while formulating its ‘Price
Policy’ ?
AT
(Or)
e @ MU T WAFD € ?  FieT ® WEd call
aAHAEY |
Whét ‘dO you understand by Branding ? Explain the
importance of branding.

A-122



(3]
TPIE—4a

(UNIT—4)

oRTET W I T G § 0 aRag @ faf
quid I |

What do vou understand by Tr

“

HAd HRgH) g

ansportation ” Elaborate
the various modes of transportation.

HIqy

(Or)
G [T & A el B qage | wve 6 g @
PH-AT TAST py 2 2

State the different types of retailers.
popular in India ?

Which type is

FPIR—5
(UNIT—S5)
5. TP 9Tl fasnud & defor W @ |

Clarify ~ the  characteristics of an effective
advertisement.

RG]

(Or)
WPy Wagdd @ oM oW € 7 Rwu waed @)
et @) et % weme |
What do you understand by Sales Promotion 2
Describe’in brief the methods of sales promotion.

B-2039 7.300

A122

R .
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B. Com. (Part III) EXAMINATION, 2018

(Optional Group—Dp)
(Money, Banking and Insurance Area)
Paper First
FUNDAMENTAL OF INSURANCE

Time : Three Hours ] [ Maximum Marks - 75

e wﬁﬁawﬁa‘»wé’ﬁmlmgﬁrﬁﬁwmm
aﬁaﬁ%ﬁ@ﬁﬁ%%mé’l

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

FHIE—1
(UNIT—1)

Mﬁmmlmﬁﬁwﬁwwmﬁﬁﬂ
A TP aavasar qaEv |

Define Insurance. Discuss its characteristics and need in
modern age.

HAqr

(Or)

W% it famm A G @ @ aner @ o

What is the contribution ol Insurance
dCVL‘lopmcnl of nation ”

‘L 3

m the cconomie



1

[2]
FHR—2

(UNIT—2)
2 m(aﬁmﬂm%?mmaﬁ?mﬁmme

PIAT |
Who is an Agent ? Describe his duties and rights.

i

(Or)
Prefefe W Wi ufr fafy -
@) Tove @ aRefie qeE
@) & P B TEE OIS B

Write short notes on the following :

B-sgy,

(@) Rules regarding remuneration of Agent

(b) Role of agent after the sale of insurance
FHIE—3
(UNIT--3)
o 4 e T @) SR e i A
qdigq |

Explain the procedure for becoming an agen and
advantages also.

am ¥

e

(Or) Q1
[ N “ < ) f) I,}l]\
A el @) i @) e Fo @ G
e 0 fo | ol |

1
: X I(\.H
€ ©« . AT l”_L'
Discuss the insurance agent’s services ,-L.glnd

scttlement of claims ‘
. . JEER e



(3]
R4

(UNIT—q)

4 mm&’ﬁﬂﬁwmé?m%wmmﬂmn
What are the various kinds of Insurance' Organisation ?
Explain the merits and demerits of each

HYq

(Or)
Fefaied R g fewforai forfRy -
@) S B ko
@ faoRor arfea
Write short notes on the following :
(a) Product pricing
(b) Distribution channels

TPIE—5
(UNIT—S)
3 “ﬁmm&a"imm,%aﬁhﬂ?ﬁaﬁml

Explain the meaning, importance and conditions of
“Insurable Interest.”

Y4
(Or)

e A e afaofd Rrgra aed Teaql R @)
WGV | o 39 B Agare A 2 ?

“The principle of indemnity is the most importan principle

Of Fire Insurance.” Explain. Is there any exception of thys

B-2043 1,400

8.5
-
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B. Com (Parg 1) EXAMINAII()N 2018
(()ptional Gmup —Finapge Arey)
Paper Secong
HNAN(‘IAI MARKET OP} RATIONS
me - Three H()urs]

[ Maximyp, Marks - -5

[ Minimyp, Pass Marks 25
T W gy ™ ¥ I :
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write short potes on the following :

(1) Acceptance house
(1) Discount house
(i) Call money market
gori—2
(UNIT—2)
o e 1 SRR PR | S TR T4 1
@i |

Define stock exchange. Explain its objects and tunctions.

Idl

(Or).
Frepferfia W OFR 9aTgY
() FE AR 0@l R
Giy e g T fEEed 9
Distinguish between the following :
(i) Money market and Capital market
(i) Primary market and Secondary market

TIR—3
(UNIT—3)

Pt @) oo R SR 1 T AR T
5 B4 W 1 w3 fer 1 ke el & |

Discuss the various rights available to investor and ©
how does SEBI proceed the interest of an investor:

P Hn

T
(Or)
A @ AGH WE A fae @i |

Describe the 1<ath
ibe the orgamsation structure of SEBL



[3)

3hIg 4
(UNIT-4)
fagah WUWH f’?'l'il‘:’Tib'T &) ufdamy T | @ fasara &
QO DX gL G WEH N A I W $1 Gy A
i aifon |

Define  Foreign Institution  Investors. Discuss  their
characteristics and government provisions about them.
JAdT

(Or)
Ffafaa =1 awenzu -

(i) <dId & e
(i) a9 wewem @ s
(iii) AT ARG F1 ARA A fafFam & s
Describe the following :
(1)  Functions of Broker
(11)  Duties of portfolio consultant
(iii) Investment Avenues of Non-resident Indians
IR—5
(UNIT—5)

5 wEve d@t @ Uz wd wl @l fdda it |

Describe the working and functions of Marchant Banks.

3Adi
(Or)
G Hhe & qecaqel fqual @1 9933y | 9 e @l
yaifad &3 91t dcd B4 2 7
E-xplain the important issue of credit rating. Which elements
are affecting credit rating

B-2038% {440

B-26

R —



Time : Three Hours )

W%IWW%%

Describe Scope of Internationa] Marketing.

3rerar
(Or)
Wﬁ,?ﬁ%ﬁnaﬁmzﬁ‘fﬁ!ﬁwmw|

[';xplain the

concept of domestic marketing
detaj

in

B~ 25

P.T.O



[2] P

Iy 2
(UNIT--2)
9 \:‘:.\«,\‘}t\“]s' ol BRI b e e {'\MNUI ¢l 'A'f',iw‘i; v

fARYT a1sv |

Discuss Pricing process and methods in reference -

"'M!;

International Pricing.

apera

(Or)
ﬁﬁgﬁuﬁw%mwﬁﬁmﬁmvwm
R FEdA 8 ? o

What is the importance of Branding and Packaging i
product planning in International Marketing.

TPR—3

(UNIT—3)
50 % 3R 3 e @) fafef aergy |
Describe methods of promotion of products in abroad.
3ar
(Or)
TG SR ¥t A e BT
Critically CXamine (he International Trade Fairs.
$Iy—4
(UNIT-—4)
4

o fd] '/:}.JJ fl]'“lfl ” M(lJUI l”ll)“” 'bl ”“Ul (]\”:\"QI

Explain PO ol 1)j.

i

TR . ndlt
Dicteibe. .- (ribution channels m Inte

)xalrll)(l[m,L

B-26 °
-.‘
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1T
(or)
~ee AT ToRT @ T TE PR R favga fewedt fotat

Give detailed note on selection and appointment of foreign
sales agents.

PR—5
(UNIT—S)
e 3 amra-ferta A B when T
Give an overview of EXIM policy of India.

3pRpar
(Or)

Wﬁﬂiﬁmmmﬁgmmﬁm
HIfT |

Explain steps required to start an Export Business.

B-2040

B-26
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B. Com. (Part I11) EXAMINATION, 2018
(Optional Group : D)
(Money, Banking and Insurance Area)
Paper Second
MONEY AND BANKING SYSTEM

Time : Three Hours ] [ Maximum Marks

e . Wﬁwﬁ%wﬁm|mmﬁwwm
aﬁwfémﬁm‘f%eﬁw%‘l

Attempt all the five questions. One question from each
Unit is compulsory. All questions carry equal marks.

FhIE—1
(UNIT—1)

D A o AR T v ae @ @ we
BIfeTy |

Define money and state the qualities of a g0ood money.
Jyaqr
(Or)

“Gai & afdwwr A e Rt @) W w9 ¥ gienien
far & 17 fadas #ifso |

“The invention of money has considerably facilitated
cconomic activities.” Discuss.

B-27

.
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FHE—2

(UNIT—2)
qwaﬁvﬁaéamﬁmﬁaﬁﬁwﬂaﬁﬁm

ctions of Reserve Bank of India.

Jerar
(Or)
mmmm%?awszsmawaﬁmm
FT |

What is Indian Banking System 2 Explain the structure and
organization of Bank.
3PE—3

(UNIT—3)

a‘ﬁmﬁmﬂaﬂﬁm,mvzﬁgﬁmﬂ@mﬂém?

GREIE
Explain the History and Social Control of Bankif
Regulation Act, 1947.

Discuss the fun

RCH

(Or) |
mﬁwmﬁmﬁaﬁaﬁ)ﬁmzﬁﬁﬁﬂmﬁEE
quiq BIfGT | |
Describe the main provisions of Banking Regulat
applicable on Co-operative bank.

THE—4

(UNIT—4)

o
jon A¢

-4 ¥ LN _ N e atpcl u
ST i da gy SRel @) wi S W el as
¢ / J r I e ; \ \ N 17 ‘“lt\’ikl‘
¢ ,'{411 ¢ 16 I*le J{”J}”Il] o I) ‘J-’-]; \,{‘”3 l:-‘l {l\;"lll‘ i
|
1 . . .‘~‘|“‘
How much Regional Rural  Banks  ane suees
achievemnent their objectives 7 What lnli'l\lt'l"f‘ Eh

’}H_“rr by ! . <y . ‘.“[.
£ Yy «'Il In (”\,/1- '.“‘1'1’1 oS '(” “”!;'E‘}\,& Mt

4

g
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Y@
(Or)
aRa W GESR b1 A GRIel W ovp o ffd |
Write an essay on working of Co-operative Banks in India.
FHE—5
(UNIT—S5)

5. Rod 3 o sfew & ar Prao gesdl 9 w
i e folee |

Write a short essay on Reserve Bank of India’s Credit
control policy.

G|
(Or)
we 4% it 3iew @ wewdl ok Frt # e S|

Discuss the objectives and functions of the State Bank of
India.

B-2044 1.400
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